UGC NET 2021 Sindhi

Topic:- 101Sindhi_A
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[Question ID = 1907][Question Description = Q01_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7625]
2. 2 [Option ID = 7626]
3. 3 [Option ID = 7627]
4. 4 [Option ID = 7628]
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[Question ID = 1908][Question Description = Q02_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7629]
2. 2 [Option ID = 7630]
3. 3 [Option ID = 7631]
4. 4 [Option ID = 7632]
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[Question ID = 1909][Question Description = Q03_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7633]
2. 2 [Option ID = 7634]



3. 3 [Option ID = 7635]
4. 4 [Option ID = 7636]
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[Question ID = 1910][Question Description = Q04_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7637]
2. 2 [Option ID = 7638]
3. 3 [Option ID = 7639]
4. 4 [Option ID = 7640]
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[Question ID = 1911][Question Description = Q05_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7641]
2. 2 [Option ID = 7642]
3. 3 [Option ID = 7643]
4. 4 [Option ID = 7644]
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[Question ID = 1912][Question Description = Q06_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7645]
2. 2 [Option ID = 7646]
3. 3 [Option ID = 7647]
4. 4 [Option ID = 7648]
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[Question ID = 1913][Question Description = Q07_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7649]
2. 2 [Option ID = 7650]
3. 3 [Option ID = 7651]
4. 4 [Option ID = 7652]
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[Question ID = 1914][Question Description = Q08_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7653]
2. 2 [Option ID = 7654]
3. 3 [Option ID = 7655]
4. 4 [Option ID = 7656]
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[Question ID = 1915][Question Description = Q09_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7657]
2. 2 [Option ID = 7658]
3. 3 [Option ID = 7659]
4. 4 [Option ID = 7660]
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[Question ID = 1916][Question Description = Q10_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7661]
2. 2 [Option ID = 7662]
3. 3 [Option ID = 7663]
4. 4 [Option ID = 7664]
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[Question ID = 1917][Question Description = Q11_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7665]
2. 2 [Option ID = 7666]
3. 3 [Option ID = 7667]
4. 4 [Option ID = 7668]
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[Question ID = 1918][Question Description = Q12_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7669]
2. 2 [Option ID = 7670]
3. 3 [Option ID = 7671]
4. 4 [Option ID = 7672]
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[Question ID = 1919][Question Description = Q13_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7673]
2. 2 [Option ID = 7674]
3. 3 [Option ID = 7675]
4. 4 [Option ID = 7676]
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[Question ID = 1920][Question Description = Q14_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7677]
2. 2 [Option ID = 7678]
3. 3 [Option ID = 7679]
4. 4 [Option ID = 7680]
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[Question ID = 1921][Question Description = Q15_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7681]
2. 2 [Option ID = 7682]
3. 3 [Option ID = 7683]
4. 4 [Option ID = 7684]

16
| ’& | 5L T ) L84
2 @ AR RSP
= = o B
s <t aE 5 -
(3) w9m 5 i

[Question ID = 1922][Question Description = Q16_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7685]
2. 2 [Option ID = 7686]
3. 3 [Option ID = 7687]
4. 4 [Option ID = 7688]
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[Question ID = 1923][Question Description = Q17_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7689]
2. 2 [Option ID = 7690]
3. 3 [Option ID = 7691]
4. 4 [Option ID = 7692]
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[Question ID = 1924][Question Description = Q18_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7693]

2. 2 [Option ID = 7694]
3. 3 [Option ID = 7695]



4. 4 [Option ID = 7696]
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[Question ID = 1925][Question Description = Q19_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7697]
2. 2 [Option ID = 7698]
3. 3 [Option ID = 7699]
4. 4 [Option ID = 7700]
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[Question ID = 1926][Question Description = Q20_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7701]
2. 2 [Option ID = 7702]
3. 3 [Option ID = 7703]
4. 4 [Option ID = 7704]
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[Question ID = 1927][Question Description = Q21_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7705]
2. 2 [Option ID = 7706]
3. 3 [Option ID = 7707]
4. 4 [Option ID = 7708]
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[Question ID = 1928][Question Description = Q22_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7709]
2. 2 [Option ID = 7710]
3. 3 [Option ID = 7711]
4. 4 [Option ID = 7712]
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[Question ID = 1929][Question Description = Q23_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7713]
2. 2 [Option ID = 7714]
3. 3 [Option ID = 7715]
4. 4 [Option ID = 7716]

24) = . o ._
&S.i'l.allj. @ Sl Ns ®

iEsl W SiEe @ WiiEey el wEE J faieE |

(1) "ot deamit (2) =l IFE=aEm
(3) el TR (4) TR T

[Question ID = 1930][Question Description = Q24_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7717]
2. 2 [Option ID = 7718]
3. 3 [Option ID = 7719]
4. 4 [Option ID = 7720]
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[Question ID = 1931][Question Description = Q25_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7721]
2. 2 [Option ID = 7722]
3. 3 [Option ID = 7723]
4. 4 [Option ID = 7724]
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[Question ID = 1932][Question Description = Q26_Sindhi_SHAAN_NOV21]

1. 1 [Option ID = 7725]
2. 2 [Option ID = 7726]
3. 3 [Option ID = 7727]
4. 4 [Option ID = 7728]
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[Question ID = 1933][Question Description = Q27_Sindhi_SHAAN_NOV21]

1. 1 [Option ID = 7729]
2. 2 [Option ID = 7730]
3. 3 [Option ID = 7731]
4. 4 [Option ID = 7732]
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[Question ID = 1934][Question Description = Q28_Sindhi_SHAAN_NOV21]

1. 1 [Option ID = 7733]
2. 2 [Option ID = 7734]
3. 3 [Option ID = 7735]
4. 4 [Option ID = 7736]
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[Question ID = 1935][Question Description = Q29_Sindhi_SHAAN_NOV21]

1. 1 [Option ID = 7737]
2. 2 [Option ID = 7738]
3. 3 [Option ID = 7739]
4. 4 [Option ID = 7740]
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[Question ID = 1936][Question Description = Q30_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7741]
2. 2 [Option ID = 7742]
3. 3 [Option ID = 7743]
4. 4 [Option ID = 7744]
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[Question ID = 1937][Question Description = Q31_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7745]
2. 2 [Option ID = 7746]
3. 3 [Option ID = 7747]
4. 4 [Option ID = 7748]
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[Question ID = 1938][Question Description = Q32_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7749]
2. 2 [Option ID = 7750]
3. 3 [Option ID = 7751]
4. 4 [Option ID = 7752]
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[Question ID = 1939][Question Description = Q33_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7753]
2. 2 [Option ID = 7754]
3. 3 [Option ID = 7755]
4. 4 [Option ID = 7756]
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[Question ID = 1940][Question Description = Q34_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7757]
2. 2 [Option ID = 7758]
3. 3 [Option ID = 7759]
4. 4 [Option ID = 7760]
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[Question ID = 1941][Question Description = Q35_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7761]
2. 2 [Option ID = 7762]
3. 3 [Option ID = 7763]
4. 4 [Option ID = 7764]
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[Question ID = 1942][Question Description = Q36_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7765]
2. 2 [Option ID = 7766]
3. 3 [Option ID = 7767]
4. 4 [Option ID = 7768]
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[Question ID = 1943][Question Description = Q37_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7769]
2. 2 [Option ID = 7770]
3. 3 [Option ID = 7771]
4. 4 [Option ID = 7772]
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[Question ID = 1944][Question Description = Q38_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7773]
2. 2 [Option ID = 7774]
3. 3 [Option ID = 7775]
4. 4 [Option ID = 7776]
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[Question ID = 1945][Question Description = Q39_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7777]
2. 2 [Option ID = 7778]
3. 3 [Option ID = 7779]
4. 4 [Option ID = 7780]
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[Question ID = 1946][Question Description = Q40_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7781]
2. 2 [Option ID = 7782]
3. 3 [Option ID = 7783]
4. 4 [Option ID = 7784]
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Choose the correct answer from the options given helow :
(C). (D) and (E) Only () (A). (B) and (C) Only (1)
(D). (B) and (A) Only (4) (B). (C) and (D) Only (3
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(1) (A). (B) and (C) Only (2) (C), (D) and (E) Onl
(3) (B), (C) and (D) Only (4) (D). (B) and (A) Onl

[Question ID = 1947][Question Description = Q41_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7785]
2. 2 [Option ID = 7786]
3. 3 [Option ID = 7787]
4. 4 [Option ID = 7788]
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Choose the correct answer from the options given below :
(C) and (D) Only (2) {A) and (B) Only 1)
(D) and (A) Only (4 (B) and (C) Only (3)
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Choose the correct answer from the options given below -

(1) (A) and (B) Only (2) (C) and (D) Only
(3 (B) and (C) Only (4) (D) and (A) Only

[Question ID = 1948][Question Description = Q42_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7789]
2. 2 [Option ID = 7790]
3. 3 [Option ID = 7791]
4. 4 [Option ID = 7792]
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Choose the correct answer from the options given below :
(B) and (C) Only (2) (A) and (B) Only (1)
(D) and (A) Only (4) (C) and (D) Only (3)
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Choose the correct answer from the options given below :
(1) (A) and (B) Only (2) (B) and (C) Only
(3) (C) and (D) Only ) (D) and (A) Only

[Question ID = 1949][Question Description = Q43_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7793]
2. 2 [Option ID = 7794]
3. 3 [Option ID = 7795]
4. 4 [Option ID = 7796]
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Choose the correct answer from the options given below :

(B) and (C) Only (2) (A) and (B) Only (1)
(D) and (A) Only (4) (E) and (D) Only (3)
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Choose the correct answer from the options given below :

(1) (A) and (B) Only (2) (B) and (C) Only
(3) (E) and (D) Only (4) (D) and (A) Only

[Question ID = 1950][Question Description = Q44_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7797]
2. 2 [Option ID = 7798]
3. 3 [Option ID = 7799]
4. 4 [Option ID = 7800]
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Choose the correct answer from the options given below :
(A) and (B) Only (2) (B) and (C) Only (1)
(D) and (A) Only (4) (C) and (D) Only (3)
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Choose the correct answer from the options given below :

(1) (B) and (C) Only (2) (A) and (B) Only
(3)  (C) and (D) Only (4) (D) and (A) Only

[Question ID = 1951][Question Description = Q45_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7801]
2. 2 [Option ID = 7802]
3. 3 [Option ID = 7803]
4. 4 [Option ID = 7804]
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Choose the correct answer from the options riven below -



(B) and (C) Only  (2) (A) and (B) Only (1)

(D) and (A) Only (4) (C) and (D) Only (3)
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Choose the correct answer from the options given below -
(1) (A) and (B) Only (2) (B) and (C) Only
(3) (C) and (D) Only (4) (D) and (A) Only

[Question ID = 1952][Question Description = Q46_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7805]
2. 2 [Option ID = 7806]
3. 3 [Option ID = 7807]
4. 4 [Option ID = 7808]

47)

Az O3 5 0= "l s e le Gl QLS o i e 500

%‘_g_'ﬂ&l (S hi U

. as o 4
Ll S (g

(&)
(B)
(©)
D)

Choose the correct answer from the options given below :

(B) and (C) Only 2) (A) and (B) Only
(D) and (A) Only (4) (C) and (D) Only

=1, Qe Saeiia 1 A Tt o o 3em wiEsh faf Enh e o -

(&)
(B)
(&)
(D)

famett firefi smhreH

Choose the correct answer from the options given below :

(1)
(3)

(A) and (B) Only (2) (B) and (C) Only
(C) and (D) Only 4) (D) and (A) Only

[Question ID = 1953][Question Description = Q47_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7809]
2. 2 [Option ID = 7810]
3. 3 [Option ID = 7811]
4. 4 [Option ID = 7812]

48)

: 7 ol ﬂ.‘: T+ o
ol 6 el 4 1525

V(_'-'La.-_. Qs (A

FErmn @B

J et D)

Choose the correct answer from the options given below :

(C) and (D) Only (2 (A) and (B) Only (1)
(D) and (A) Only  (4) (B) and (C) Only  (3)

Fiz=r g fasft o anfafa?

(&)
(B)
(©)
D)

TH T
HATATH FTAET

(1)
(3)



Choose the correct answer from the options given below :

(1) (A) and (B) Only (2) (C) and (D) Only
(3) (B} and (C) Only (4) (D) and (A) Only

[Question ID = 1954][Question Description = Q48_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7813]
2. 2 [Option ID = 7814]
3. 3 [Option ID = 7815]
4. 4 [Option ID = 7816]

49) ~ - 3 - %
:..'J"tl L:_&.J u--_;L;I ~ I)-_:x_— L’!“:'ﬁ'\’h_s"'.“bl (S A
SR PO LY
S |,‘_S&' (B)

& |
Lutea kil ol (@)

.
L

i

Gla=s S sy O

Choose the correct answer from the options given below -

(B) and (C) Only (2) (A) and (B) Only (1)
(D) and (A) Only (4) (C) and (D) Only (3)

ot smpredt feaefior =1 ez 9 T9veas e i ?

(A) W1 TEEE SAaet

(B) . AW, T

(C) oy i fazm

(D) T FEa

Choose the correct answer from the options given helow :

(1) (A) and (B) Only (2) (B) and (C) Only
(3) (C) and (D) Only 4) (D) and (&) Only

[Question ID = 1955][Question Description = Q49_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7817]
2. 2 [Option ID = 7818]
3. 3 [Option ID = 7819]
4. 4 [Option ID = 7820]

50)

$|Q|1=“lg_\_h P

154
e

,véw-ﬂ- e e ()

DD PUIRPUIR ;)
= B (©)

P |JL...?&... U,Zb;j s

9)

(D)

Choose the correct answer from the options given below -

(B) and (C) Only (2) (A) and (D) Only (1)
(D} and (B) Only (4) (C) and (A) Only (3)

Hieg 9 AeimeT i

(A)  TrEl Sae

(B) @A gami

(C) = @

(D) T T ZFEE

Choose the correct answer from the options given below :

(1) (A) and (D) Only (2) (B) and (C) Only
(3) (C) and (A) Only 4) (D) and (B) Only

[Question ID = 1956][Question Description = Q50_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7821]
2. 2 [Option ID = 7822]
3. 3 [Option ID = 7823]
4. 4 [Option ID = 7824]



51)

& s S o655 ©

Lr,.' SR NS ()

Choose the correct answer ﬁ'om the options given below :

(A) and (C) Only (2) (B) and (D) Only
(D) and (A) Only (4) (C) and (D) Only

. Hi, §i. vm, ve, 7 FED g el qE 9 w0 e
(A) =, A T

(B) =N 94 HEAmi

(C) ot fasie Tiemoft

(D) o e @@

Choose the correct answer from the options given helow :

(1 (B) and (D) Only 2) (A) and (C) Only
(3)  (C) and (D) Only 4) (D) and (A) Only

[Question ID = 1957][Question Description = Q51_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7825]
2. 2 [Option ID = 7826]
3. 3 [Option ID = 7827]
4. 4 [Option ID = 7828]

52) s

czgr‘bll-:?‘*jb‘_-_‘uh-— C:-.l.....ql.- ~|=._j|‘r°..J-_-_{_§.J»“4,..j_3&~
L; i 1_.4._,__ =@

Ama. el s "—l\;wéjﬁ. (©

+ _5.7:...1 ot S ..........3 '3 (D)

Choose the correct answer from the options given below :

(A) and (B) Only (2) (B) and (D) Only (1)

(D) and (A) Only (4 (C) and (D) Only (3

wieg g fadi afmem @ wigen 3 sAifez 4 dm afefa e

(A) = A S

(B) W THEEE e

(C) I =1 TR Hee

(D) 1. fedw g=ami

Choose the correct answer from the options given below -

(1) (B) and (D) Only (2) (A) and (B) Only
(3) (C) and (D) Only (4) (D) and (A) Only

[Question ID = 1958][Question Description = Q52_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7829]
2. 2 [Option ID = 7830]
3. 3 [Option ID = 7831]
4. 4 [Option ID = 7832]

53)

l'L"--J_ﬁ'\ll\‘-..Jj-’“;LSFC‘LW _a,.a_,u_,__-_h_/
I3 b @)
13 oo '~..-‘3f-: (B)
W3 wal= bg_g...:: (C)
X R (D)

o .-s'::. ¥ ‘-\.'i:"
13 HLoOL ®

Choose the correct answer from the options given below :
P e s B o I i Fey FAR e 1%

(1)
(3)



b g e o Yo F SR o =y Ty, AT R A Lo

(C) and (D) Only (4) (C) and (E) Only (3)

(A) g Em

(B)  7TH THE g

(C©)  FH T am

(D)  FHEE w1 9n

(E) @ Arfl gm

Choose the correct answer from the options given below -

(1) (A) and (B) Only 2) (B) and (C) Only
(3) (C) and (E) Only 4) (C) and (D) Only

[Question ID = 1959][Question Description = Q53_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7833]
2. 2 [Option ID = 7834]
3. 3 [Option ID = 7835]
4. 4 [Option ID = 7836]

54)

o, & i N g o b s A
.'Jubli-_lll;-ll-‘-J\-j- L_J:—/-&_l._ﬁ-gw'km'

g @
s 0
b ©
e AR

O (B

Choose the correct answer from the options given below :

(B). (C) and (D) Only  (2) (A), (B) and (C) Only (1)

(B). (C) and (E) Only (4 (C). D) and (E) Only  (3)

i 9 wfzfegf aifaaf -1 sma ol

(A) ==
(By =
(C)  wmE
D T
(B) ==

Choose the correct answer from the options given helow :

(1) (A). (B) and (C) Only 2)  (B).(C) and (D) Only

(3 (C), (D) and (E) Only (4) (B). (C) and (E) Only

[Question ID = 1960][Question Description = Q54_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7837]
2. 2 [Option ID = 7838]
3. 3 [Option ID = 7839]
4. 4 [Option ID = 7840]



55) Tl oas oa w7 ¢ L
&|L¢MUQ;§QLJJJ%JJI3|$%J|?M

ORI
0542 fom (B

=il s (O
o> ev9y (D)

sagdips @

Choose the correct answer from the options given below :

(B) and (C) Only  (2) (A) and (B) Only (1)

(D) and (A) Only (4) (E) and (D) Only (3)

Tl 129 3 e 9 @ qead v e el

(A)  HEE-T
B) FEE-TE
(€ -

(D) -
(E)  sitH-weiE

Choose the correct answer from the options given below :

(1) (A and (B) Only (2  (B)and (C) Only

(3) (E) and (D) Only ) (D) and (A) Only

[Question ID = 1961][Question Description = Q55_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7841]
2. 2 [Option ID = 7842]
3. 3 [Option ID = 7843]
4. 4 [Option ID = 7844]

56) ~
&g"-&l -C'_E“":’}“’j"'f“ J-!-n-v L:’;.-ku.y - n_J}l.‘ &

Yooy sl D)
Choose the most appropriate answer from the options given below -

(A) and (B) Only (2) (D) and (A) Only (1)
(B) and (D) Only (4) (B) and (C) Only (3

(A)  TEEEES S EEEa
(B) =@ s

(C) i =l

(DY =97 99371



Choose the most appropriate answer from the options given below -

(1
(3)

(D) and (A) Only (2) (A) and (B) Only
(B) and (C) Only (4) (B) and (D) Only

[Question ID = 1962][Question Description = Q56_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7845]
2. 2 [Option ID = 7846]
3. 3 [Option ID = 7847]
4. 4 [Option ID = 7848]

57)

.._J’hl .L_jj_.,_I:U| uk..,_‘_?.g_ﬂ-"d ,-\. Lj_g.ﬂ- L"‘._-b-m—Juj u..n.q...«..'-- ﬂ‘\J\-‘:-

A ~gsliss gslic @

€

S ol e ©

Sl ©

Choose the most appropriate answer from the options given below :
(C) and (B) Only (2) (B) and (D) Only (1)
(A) and (C) Only 4) (D) and (A) Only (3)

AW A P G TIA A AT e -

@A) g ¥ Fa A

(B)  #A W=

(C) =9 =HiHER =i Tiiez

(D)  =iE

Choose the most appropriate answer from the options given below :
(1) (B) and (D) Only (2) (C) and (B) Only
(3) (D) and (A) Only (4) (A) and (C) Only

[Question ID = 1963][Question Description = Q57_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7849]
2. 2 [Option ID = 7850]
3. 3 [Option ID = 7851]
4. 4 [Option ID = 7852]

58)

. g = _ £ .
e C_&JM .‘_".5:. 2 "&?,ﬂfﬁ:‘l _.-._n_a-'b;.” Lf 3 & L:-\-_H B ol o o

.J\.:.'»|J.__..'t._g'_".l...q
Jil=u 99 93l

Pljj GEm

e
e

1843

(&)
(B)
(©
(D)

Choose the most appropriate answer from the options given below :

(A) and (D) Only (2) (A) and (B) Only
(C) and (D) Only (4) (B) and (C) Only

T 1843 # i § fafy 75 ganfiwr 3 v 3 sisha 3 foram 9% 41 -

(A)  TErm FEEi

(B) =g FE

(© =y faEeg

Choose the most appropriate answer from the options given below -
(1) (A) and (B) Only (2) (A) and (D) Only
(3) (B) and (C) Only (4) (C) and (D) Only

[Question ID = 1964][Question Description = Q58_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7853]
2. 2 [Option ID = 7854]
3. 3 [Option ID = 7855]
4. 4 [Option ID = 7856]

(1)
3)



59) s SRR

oSl @
Oy 9y (B)
L.'!_,W'; ¥l (©
il eyl b @

Choose the most appropriate answer from the options given below :

(B) and (C) Only (2) (C) and (A) Only (1)
(C) and (D) Only (4) (A) and (B) Only (3)
FH T 9 Feal A TEE A7
(A) = TE EEA
(B)  THEA IWE

(C) =l 35
(D) owdE S g

Choose the most appropriate answer from the options given below :

(1) (C) and (A) Only (2) (B) and (C) Only
(3) (A) and (B) Only 4) (C) and (D) Only

[Question ID = 1965][Question Description = Q59_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7857]
2. 2 [Option ID = 7858]
3. 3 [Option ID = 7859]
4. 4 [Option ID = 7860]

60) T e ; i -
o0l O e AmllS 545
Qely S Jl.; (A)
0 05 (B)
P C- SOV (0))
= 3l D)
Choose the most appropriate answer from the options given below :
(B) and (C) Only  (2) (A) and (B) Only (1)
(D) and (A) Only 4) (C) and (D) Only (3)
(A) T s
(B) i wH

(C) =& M
(D) AR
Choose the most appropriate answer from the options given below :

(1) {A) and (B) Only (2) (B) and (C) Only
(3) (C) and (D) Only (4) (D) and (A) Only

[Question ID = 1966][Question Description = Q60_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7861]
2. 2 [Option ID = 7862]
3. 3 [Option ID = 7863]
4. 4 [Option ID = 7864]

61) = =
o) cda »Uﬁjg;;_._.\ 2 &8 hw
'.r‘.m'!:-lj._.,._g:-l.z;-dl.;.ﬁl (A)
= e S = (B)
L W



R R T LT | N Ny R R G A R e (v S S, ALy A M R e v, B

(A) and (C) Only (2) (A) and (B) Only (1)
(B) and (C) Only (4) (A) and (D) Only (D

Fadror & i T T T A

(A) TH TN AT AR

B) TEgAdEITE

(C) o & el i

(D) e =z AfEreg 2 Aw

Choose the most appropriate answer from the options given helow -

(1) (A) and (B) Only (2) (A and (C) Only
(3)  (A) and (D) Only (4)  (B)and (C) Only

[Question ID = 1967][Question Description = Q61_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7865]
2. 2 [Option ID = 7866]
3. 3 [Option ID = 7867]
4. 4 [Option ID = 7868]

62) = - ‘
k“jz,'b|_5.,._r‘_9.~a ob ;aJ_:.:_r‘ Li.‘-._-\.i S el p U
o Aily B)

5o B (©
= pht @
Choose the most appropriate answer from the options given below :

(B) and (C) Only (2) (A) and (B) Only (1)
(D) and (A) Only (4) (C) and (D) Only (3)

FiFsH (i AT i a3 =@ 4 9] 9i0EE aw -

(A) = A9

(B) S T

(C) e wmg

(D) T s

Choose the most appropriate answer from the options given helow -

(1) (A) and (B) Only (2) (B) and (C) Only
(3) (C) and (D) Only (4) (D) and (A) Only

[Question ID = 1968][Question Description = Q62_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7869]
2. 2 [Option ID = 7870]
3. 3 [Option ID = 7871]
4. 4 [Option ID = 7872]

63) = - .
o Qs s Ol £ ol

ey =5 (A)

J.J\.La_}:...i_a...q.-_g.‘._-.;......_-‘-fel (B)

:M 3 (C)

Lol (D)

Choose the most appropriate answer from the options given below :
(C) and (D) Only (2 (B) and (C) Only (1)
(A) and (B) Only 4 (D) and (A) Only (3)

HHIH H A= G g, AT -

(A) TR
(B) 9 H TH AiR
() Rl

(D) AEH=AER



Choose the most appropriate answer from the options given helow :

(1) (B) and (C) Only (2) (C) and (D) Only
(3 (D) and (A) Only (4) (A) and (B) Only

[Question ID = 1969][Question Description = Q63_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7873]
2. 2 [Option ID = 7874]
3. 3 [Option ID = 7875]
4. 4 [Option ID = 7876]

64) ~ -
l_lfhl ."'-‘-'\'l J.-L:;-‘:J L‘- g'_'4|)='-|-_‘§

ke @
Sl D)

Choose the most appropriate answer from the options given below -

(A) and (B) Only  (2) (B) and (D) Only (1)
(D) and (A) Only (4 (B) and (C) Only  (3)

(A) TR T

(B) 5T e

(€ w1 g

(D) == A

Choose the most appropriate answer from the options given below -

(1 (B) and (D) Only (2) (A) and (B) Only
(3 (B) and (C) Only (4) (D) and (A} Only

[Question ID = 1970][Question Description = Q64_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7877]
2. 2 [Option ID = 7878]
3. 3 [Option ID = 7879]
4. 4 [Option ID = 7880]

65) =

et .._g':l.;"ilj LB ~ 2 E"[:_S\J‘-C.L‘i‘ (&)
L‘-“-"HE-L_S;-—L-:JL'\L,S-:-‘L;‘E':? s'—.{:g;_‘_;L.."; (B)

ki J‘G'IU )0 el @

qrg 7 o mefr § ‘e wm | o2 F= -

(2) A ¥ = ST e

(B) Wi § wF S anEhE gt

(C) vt ¥ fram mizzgit mafa

(D)  wEdE § aff mizeafy mafa

Choose the most appropriate answer from the options given below -

(1) (A) and (D) Only (2) (A) and (C) Only
(3 (A) and (B) Only (4 (B) and (D} Only

[Question ID = 1971][Question Description = Q65_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7881]
2. 2 [Option ID = 7882]
3. 3 [Option ID = 7883]
4. 4 [Option ID = 7884]

66) Match List I with List IT

List IT List I

P ORTRpOS (O T BT N S o FAN
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Choose the correct answer from the options given below :

by e

(B)
(&)
D)

(A)-(11). (B)-(III), (C)-(IV). (D)-(D) (2) (A)-(ID). (B)-(D). (C)-(I1I). (D)-IV) (1)
(A)-IV), (B)-(IID). (C)-II), M)-T) 4 (A4)-(IID). (B)-(IV). (C)-(D). (D)-AD) (3)
=t I % g J=1 11 1 e fifa,
T I =t 11
(A) a3 W (@ TEA AR A
(B) @ wEsg 9 33 (1) 99 ==
(C) =l i T WD) T« foem = =
D) 74 fem g1y @) T 3 sEy
Fr= fau o fa=eat o § TE I A 999 i
(1) (A)-(D). (B)-(ID), (C)-(ID), D)-AV)  (2) (&A)-(D), (B)-(ILD), (C)-AV), (D)-(I)
(3) (A)-(II), (B)-AV), (C)-(D, (D)-AD (4 (A)-IV), (B)-(I1D), (C)-(II). (D)-(D
[Question ID = 1972][Question Description = Q66_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7885]
2. 2 [Option ID = 7886]
3. 3 [Option ID = 7887]
4. 4 [Option ID = 7888]
67)
Match List I with List IT
List IT List I
Ol pdal @ Ll S @
LKL, @ \rg 183 Mniis 2SS0 @)
joey e (D pRe U (O
A Qe ) (2 e ) @O Sl o
Choose the correct answer from the options given below :
(A)-(IV), (B)-(D). (C)-(ID), (D)-(I1L) (2) (A)-aD). (B)-(I). (C)-(IV), (D)~(I1I) (1)
(A4)-(I10), (B)-IT), (C)-OV). M)-M (4 (A)-(D). (B)-(II). (C)-(III). (D)-(IV) (3)
=t 1 g 7= 11 1 frem ifs
T 1 Tt 11
(A) =1, 7 il (D GIGIEEE]
(B) =T, gEfien mEami ) e
(C)  #Alen g2 (M) =33 f=
(D) T sr=aEmi (IV) UF H bf v5 U IEEE
Jra fou 7o fompeal ® ¥ o =W @1 == Fifa
(1) (A)-(II). (B)-(D). (C)-(IV). (D)-(11I) (2) (A)-(IV). (B)-(I). (C)-(II). (D)-(I1I)
(3) (A)-(D). (B)-(ID), (C)-(I1D), (D)-(IV) (4) (A)-(I1I), (B)-(II). (C)«(IV). (D)-(I)

[Question ID = 1973][Question Description = Q67_Sindhi_SHAAN_NOV21]

A W N -

68)

. 1 [Option ID = 7889]
2 [Option ID = 7890]
3 [Option ID = 7891]
4 [Option ID = 7892]

List I
Sl ft‘ g

S
JuslS Sl
=

@
(ID)
(I1L)
Iv)

Match List I with List IT

(&)
(B)
(C)
D)

Choose the correct answer from the options given below -

(&)-11). (B)-(II). (C)-AV). (D)-(I)
(A)-IV). (B)-(D. (C)-(ID). (D)-(IID)

(2)
4@

(A4)-(1). (B)-(ID). (C)-(ID). (D)-(IV)
(A)-(10). (B)-IV). (C)-@). (D)-1D)

(1)
(3)



Tt 1 % = gt 11 =1 e $ifau -

(A)
(B)
(&)
(D)

 fo mu fopedl # @ AR I B 9 IR

(A)-(D). (B)-(II). (C)-(II). (D)-(IV)
(A)-dID. (B)-AV). (C)-(D. D)-ID)

(0
(3)

e I
EIEE]
e
BIEER
HAHA

iy
(1D
(I1I)
(Iv)

(2)
(4)

== 11

il
T Fegdd

(A)-(ID). (B)-(ILI). (C)-(IV). (D)-(I)
(A4)-@v), (B)-(I), (C)-(D, (D)-IID

[Question ID = 1974][Question Description = Q68_Sindhi_SHAAN_NOV21]

A wWw N =

69)

1 [Option ID = 7893]
2 [Option ID = 7894]
3 [Option ID = 7895]
4 [Option ID = 7896]

—

List IT

Match List I with List IT

List I
= 2 Jb
23090

b ]
=L

Jsl JL

&)
®)
(©
(D)

Choose the correct answer from the options given below :

(A)-(III). (B)-T). (C)-I). (D)-(IV) (A)-(IT), (B)-(T), (C)-(III), (D)-(IV) (1)
(A)-(II0). (B)-(OV). (C)-(ID). (D)-(D) (A&)-(D). (B)-aD), (C)-(III), (D)-(IV) (3)
7=t 1 % g 7=t 11 =1 fies i -
T I = 11
(A) = R (D =1 i
(B) = AEE M =43 "
(C) e =z (II)  FeEst
(D) g A (IV) Fe T
¥ fzu o faeat § ¥ wE 3 1 99 Fifa
(1) (A)-(II), (B)-(I), (C)-(I1I). (D)-(IV) (2) (A)-(IIT), (B)-(@), (C)-(ID). (D)-(IV)
(3) (A)-(D. (B)-(ID). (C)-(I1I). (D)-(IV) (4) (A)-(I1I). (B)-(AV). (C)-(II), (D)-(D)
[Question ID = 1975][Question Description = Q69_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7897]
2. 2 [Option ID = 7898]
3. 3 [Option ID = 7899]
4. 4 [Option ID = 7900]
70) Miaichi Last T it Tast 11
List IT List I
LS;-‘ (I ,& iy L JJL ;&‘ 3 1.\;.% T i (A)
P
g3 @ gial s oA ®
&5 ".,-.*l (e
\,5-—9- ! —~ = .‘-‘-|J&' QU
S @ SLsls =5 2 de @)



= e

Choose the correct answer from the options given below :

(A)-AD. B)-D). (CO)-aIV), (D)-AID) (2  (A)-IID). B)-(1). (O)-11). (D)-(IV)
(A)-AV), (B)-(IID). (C)-T). @)-ID (4  (A)-(1). (B)-(ID). (C)-(III). (D)-(IV)
Tt 15 =g 5=t 11 =1 A Sifa -
T 1 = 11
(A) g o wOwER, I O i u-get (D) o
(B) Tag ¥ wOg, BwEl o g I =
(C) o9 = zaw § F=ramE o FEiE ML ==
=i -
(D) g 3 fa= 90 9= St w-TEh av) e
= fou mu et § o oE I | = i
(1)  @-d), B)-@. (CO-dD), D)-AV)  (2)  (A)-II), (B)-1). (C)-(IV). (D)-(11L)
3) A-D.B-AD. (O-IID. D)-AV) @  (A-IV). (B)-D). (O)-D. (D)-1D

[Question ID = 1976][Question Description = Q70_Sindhi_SHAAN_NOV21]

(1
(3)

(A)
(B)
(C)

1. 1 [Option ID = 7901]
2. 2 [Option ID = 7902]
3. 3 [Option ID = 7903]
4. 4 [Option ID = 7904]
71
) Mateh List T with Liat TT
List I Fist1
33s O Sl ol B
].__1 | {II} .‘_g'ill > .:‘ pl.}
sl @m gIls i S
L,H:!i’j -\}""' avy L."r."l'—- = T 2

D)

Choose the correct answer from the options given below :

(A)-ID), (B)-dD), (CO)-AV). D)@ @)  (A-D. (B)-dD, (C)-AID), (D)-IV)
(A)-AV), (B)-(D). (O-(ID), (D)-II) &  (A)-D. (B)-IV). (C)-D). (D)-ID)
Tt 1% @y 5=t 11 = o it
T I Tt 11
(A)  AREYEE 9Ami (I ECE
(B) T g ) A
(C)  mifeaE =iee I =g
(D) A F V)  erEet
dr= f2u mu fopeat & § 9E I 1 =99d i
(1)  (A-D. B)-AD. (O)-II). (D)-IV) (2  (A)-AD. (B)-AID. (C)-AV), (D)-(D
(3) (A, B)-AV). (O-D. D)-AD (4  (A)-OV), (B)-(D). (C)-(ID), (D)-(III)

[Question ID = 1977][Question Description = Q71_Sindhi_SHAAN_NOV21]
1 [Option ID = 7905]
2 [Option ID = 7906]
3 [Option ID = 7907]
4 [Option ID = 7908]

A WN =

72)

8y
(3)

()
(B)
(©

Match List I with List IT
List IT ListI
Ll dbdss @ = e
\ L =
s~ & A
Wi 80 @D Tl =
Al al @ lagal 5o

(D)



) C;.oose the correct answer from the options given below :
(A)-(D), (B)-(ILL). (C)-(II), (D)-(IV) (2) (A)-IV), (B)-(I1I), (C)-II), D)-I) (D)
(A)-I1), B)-AV). (O)-ID). DD @  A-D. B)-ID, (O)-1D). M)-AV)  (3)

Tt 1 % =y gt 11 =1 e o -

T 1 T 11
(A) T doEm (D) Fad AN I
(B) i A () ¥R =R
(C) o1 Weamil (D) =& w=d o
(D) = (IV) 1% 4 3

St w0 el B WA = i
1) (A-AV). (B)-@D. (O-I). @-O @  (A-@.®)-D. (O)-l). D)-(IV)
(3)  (A-D. B)-AD, (O-AI), D)-AV) (4  (A)-ID), (B)-(IV), (C)-ID), (D)-(T)

[Question ID = 1978][Question Description = Q72_Sindhi_SHAAN_NOV21]

A W N -

1 [Option ID = 7909]
2 [Option ID = 7910]
3 [Option ID = 7911]
4 [Option ID = 7912]
73 Match List T with List TT
List IT List I
o8t @ seds ®
L:;-'L—,.Lﬂ, ol G am Jsde Oshl  (©
o Ok Jusis= @) slshs @
Choose the correct answer from the options given below :
(A)-IV). (B)-(D), (C)-(IID). (D)-(ID) (2) (A)-(D), (B)-(IL), (C)-(I1I), (D)-(IV) (1)
(A)-0D), (B)-(D). (C)-IID). D)-AV) 4 (A)-(III), (B)-(II). (C)-(T). (D)-(IV) (3)
=t I g gt 11 =1 e =ity
T I T 11
(&)  FWE SmETE D THHE HaRH
(B) T@ &R I  aiEEE
(C)  Fmhr T (D)  FAFEE et
(D) T (IV) FrEme S

di= fau mu faedl & & = W 9 il
(1) @A-@. B-ID, (O)-1D, M)-AV)  (2)  AQ)-AV), B)-D. (O)-(11D), (D))
(3) (A, (B)-AD. (O)-@, O)-IV) @  (A-ID. (B)-@). (C)-aID). (D)-IV)

[Question ID = 1979][Question Description = Q73_Sindhi_SHAAN_NOV21]

A w N =

1 [Option ID = 7913]
2 [Option ID = 7914]
3 [Option ID = 7915]
4 [Option ID = 7916]
74
) Match List I with List IT
List IT List I

L;.!-'|_3.J5;-|J..T_:_5._=__. ¥ @ Ols o Jde3 (A)

._,rlj-‘_ﬁb"“ JdSes S 1D JL,M U, 288 (B)

L}.“‘)\.a.u.:- a |‘: (]II:] d'.)......y L\...u (C)

Sl 04 @V ;BENs o

Choose the correct answer from the options given below :
(A)-). (B)-(D), (C)-1ID). D)-AV) (2 (A)-(IL), (B)-(D), (C)-AV). (D)-(ID) 1)
(A)-ID), (B)-(D). (O)-0ID). @-AV) @)  (A)-aV), (B)-(ID, (O)-ID), M)-@M  (3)

=it 1% =y gt 11 =1 e o -

T 1 Tt 11
(A)  TmEEE O = TRy e
(B) A Tl (II) =1 T Saar

(C) fHamasA (IID) = F2gemi



(D)  FATR (Iv) @& FEmn

J= fou mu fepet d @ 9E I == i

(1) (A)-III), (B)-(D), (C)-(IV), D)-AD  (2) (A)-(D. (B)-(ID. (C)-1ID). (D)-
]_

aw
(3) (A)-(IV), (B)-(II), (C)-(III), (D)-(I) (4 (A)-(IT), (B)-(T), (C)-(I1D). (D)-(IV)

[Question ID = 1980][Question Description = Q74_Sindhi_SHAAN_NOV21]

AN wnN -

1 [Option ID = 7917]
2 [Option ID = 7918]
3 [Option ID = 7919]
4 [Option ID = 7920]

75)

Match List T with List IT

List IT ListI
ges @ S s (A

5 §
p i (1D e o (B
L,rf-ﬂ-." Ls o (IID) e U (€
@MW 32 S PO O

Choose the correct answer from the options given below :

(A)-IV), (B)-D). (C)-M. M-AD  (2) (A, B)-M. (CO-IV). D)-AD) (1)
@-D. (B)-AD. (O-dID). M)-AV) @  (A)-ID. (B)-D). (O)-IV). (D)-AID)  (3)

=t 1% Wy 7=t 11 1 ee =ifa

T 1 T 10
VI S n  akm
(B) FaE Im  =g=
(C) H=3 (IIh) ==mifa
D) HFE=T (V) =am

Fra fou v faseat & © wE ST F wad A

(1)  AAAID. B)-D. (O-AV). D)-ID) @)  A-IV), (B)-III). (C)-1D). (D)-(ID
(3)  (A-AD. B)-D. (C)-AV). D-AI) @  A-D. B)-d). (C)-aLI). (D)-AV)

[Question ID = 1981][Question Description = Q75_Sindhi_SHAAN_NOV21]

A W N -

76)

1 [Option ID = 7921]
2 [Option ID = 7922]
3 [Option ID = 7923]
4 [Option ID = 7924]

\ =5
LN o L - Y = . H i ] 4 5 "
u.i*?.ﬂ. \_9"'"0 st \51 \....‘_JLi" I LJ'LHl?i.- (s’ = £ o - i_g_.Jl -GL:QM e

sl shads o

Jodles @



(B)

!
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(©
slay @
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Choose the correct answer from the options given below :

BYC) D) E)YA) @) A B O D) E) (1)
OYE)@) B ©C) @D © @D E @B

Hepa, (241, 35, Wt U s wmety § uerh 3§ gn-umn vl 5 et gae -

(4) e e
(B) wwm

(C) e

(D) wamE

(E) =emEq

Choose the correct answer from the options given below -

(1 (&) B (C) D) E) 2 (B (C) D) E @
(3)  (O)(D)(E) &) B @ (D) (E) &) B (C)

[Question ID = 1982][Question Description = Q76_Sindhi_SHAAN_NOV21]
1 [Option ID = 7925]
2 [Option ID = 7926]
3 [Option ID = 7927]
4 [Option ID = 7928]

A W N -

77) B
o v or L L ERCE P PP

POERCUL I
.__f PIESPEENe (B)
SV ©
;,5 le=n 2, (D)

Choose the correct answer from the options given below -

B)Y(C) D) E) @A) @) A @B O MDE @

D) E)A) B ©) @ €)M E B 3

e FEte 3 il faam wgaty 1 faafeen otz -



(A)

(B)

(©

(D)

(E)

AT GEAT

T T

Choose the correct answer from the options given below :

(1)

(3)

(&) (B) (C) (D) (E)

(C) (D) (E) (A) (B)

2 B (C)D)(E) @A)

@  D)(E & B ©)

[Question ID = 1983][Question Description = Q77_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7929]
2. 2 [Option ID = 7930]
3. 3 [Option ID = 7931]
4. 4 [Option ID = 7932]

78)

090 SN O WP 1 W P JC I R 1 N SR T 'e:-"”'-\'&| e Lo

S Sms @)
Hr‘_-I.J.;q_-_m_‘l Syree  (B)
. S N (©)

P leelg Lyadl (D)

Shil ®

Choose the correct answer from the options given below -

D)) B E(©C) @ B O D®WE @
(C)D)A) B)E) @) (A B (©) D) E)  (3)

(&)

(B)

(C)

(D)

(E)

Al JHE

Choose the correct answer from the options given below -

(1)

(3

(B) (C) (D) (A) (E)

(AYIBY Y (T (Y

(2) D) (A) (B) (E) (C)

{4y (O (T CAY (BY (Y



[Question ID = 1984][Question Description = Q78_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7933]
2. 2 [Option ID = 7934]
3. 3 [Option ID = 7935]
4. 4 [Option ID = 7936]

79)
}-bb_aJ-—-L——af J"\L"xjjl‘“bhﬁjlbl\;}-’-h;ﬁl

C—f’J' o -J"" ~l @

LY e e 2 @
B e L )
S8 gy S @

A ydd i 2SN (B

Choose the correct answer from the options given below :

A)® DM E @ A®E DO @O

(D) (C) (A) (B) (E)  (4) (B) (A) (C) (E) (D) (3)

FAY S HER G 9 g = et 2
(A) =1 FE @ aEE

(B) =1 TEHE AH AAE

(C) 3. F-aareled ==

D) =1 TAE FEE

(E) 31, el w2

Choose the correct answer from the options given below :

1) (A (@B (E) D) ©) (2) (A (B)(C) (D) (E)

(3) (B)(4)(C)(E) D) 4 @D (©) @A) B E)

[Question ID = 1985][Question Description = Q79_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7937]
2. 2 [Option ID = 7938]
3. 3 [Option ID = 7939]
4. 4 [Option ID = 7940]

80)

(]
1

L’....fl.a: Li_;‘__’

. -
s gl 2.l a

sl shedee 5130 2 dlegils e m L S e W WK

4)

(B)

()



Lg.u 135 o

Choose the correct answer from the options given below :

A@®OD @ (D) (C) (B) (A)

(B) (A) D) (C) (4) (C) (&) B) (D)

el figemiisn 5 T=F o i 9w o S anen o e -
(A) HT FH

(B)  TiEA g

(C)  =wix 52l Fig

(D) TR

Choose the correct answer from the options given below :

1) D) @B A (2) A @dBI(C) D

(3) (C) (A) (B) (D) 4 (B) (A) (D) (C)

[Question ID = 1986][Question Description = Q80_Sindhi_SHAAN_NOV21]

1. 1 [Option ID = 7941]
2. 2 [Option ID = 7942]
3. 3 [Option ID = 7943]
4. 4 [Option ID = 7944]

81) .

4l sldee 2 Jle (6519 5F mld o 5150 o @l A

sl (A)

Liag QU s 185, @)

Gurt ©

(% o O

S Fos e (B)

Choose the correct answer from the options given below -

@® O DE @ B @ CDE @

(C) (&) (B) (D) (E) (4 (E) (4) (C) (B) (D) 3)

B e e B Bt o = 13 1 O o e e =1 o =

A T

1

(3)



(B)

(©)

(D)

(E)

i g4

Choose the correct answer from the options given below :

(1)

(3)

(B) (&) (C) (D) (E) @ A ®IC) D E)

(E) (4) (C) (B) (D) (4) (C) (A4) (B) (D) (E)

[Question ID = 1987][Question Description = Q81_Sindhi_SHAAN_NOV21]

A w N =

82)

1 [Option ID = 7945]
2 [Option ID = 7946]
3 [Option ID = 7947]
4 [Option ID = 7948]

sl shdo t__j-‘;'-‘« S ST e 590 iy b S
Qs (&)

oks @

dos  (©

= O

~L (B

Choose the correct answer from the options given below :

B)C) DM E @A) @) A @B DME @
DYE) QB C) @ C)DE A B (3

(A)

(B)

(©)

(D)

(E)

AU

T 1 L

]

Choose the correct answer from the options given below :

(1)

(3)

&) (B) (C) (D) (E) 2y  (B)(C) (D) (E)A)

(C) (D) (E) (&) (B) @ D (E) @) OB



[Question ID = 1988][Question Description = Q82_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7949]
2. 2 [Option ID = 7950]
3. 3 [Option ID = 7951]
4. 4 [Option ID = 7952]

83)

L

2 b dhde e pled Oyl 0,5~ h_é}'-" O St S

(A)

(B)

(©)

D)

(E)

Choose the correct answer from the options given below -

B ECDEGA @ (&) (B) (C) (D) (E)
(D) (E) (A) (B) (C) (4) (C) D) (E) (A) (B)

firg 7 5 9 F IR F T T TR T A fEefEe S |

(A)

(B)

<)

(D)

(E)

T -

Choose the correct answer from the options given below :

(1)

(3)

&) (B) (C) (D) (E) @  (B)(C) D) E) @A)

(C) (D) (E) (&) (B) 4 (D (E) @A) B (C)

[Question ID = 1989][Question Description = Q83_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7953]
2. 2 [Option ID = 7954]
3. 3 [Option ID = 7955]
4. 4 [Option ID = 7956]

84)

(©)

(D)

(1

(3)



Choose the correct answer from the options given helow :

(A) B (C) D) (E) (@ A ©C) B D) E) 1)

@B D E @ EYB) O AD 3

FAN A AN | fastoe Si-

(A)

(B)

(€

(D)

(E)

T TEH

Choose the correct answer from the options given below :

(1)
(3)

(A) (C) (B) (D) (E) 2 @@ C©) D E

(E) (B) (C) (A) (D) (4 (C) (A) (B) (D) (E)

[Question ID = 1990][Question Description = Q84_Sindhi_SHAAN_NOV21]

A wWwN -

85)

1 [Option ID = 7957]
2 [Option ID = 7958]
3 [Option ID = 7959]
4 [Option ID = 7960]

5l 53 p ISl I Gl s Sl

Choose the correct answer from the options given below :

BODOM®) @ (4) (B) (C) D) (1
D) @A) B C) @ CD@®®m 3

21, fawe FFaeist o Fraa Tadl e | feaa wereR 5 uewn o foaeten et sme-

(&)



(B) Al &M

(C)  fwamg =t &g

(D) faeia St =i FI:[E

Choose the correct answer from the options given below -

(1 A®dOO 2 BC D

3 (©C)D)©A) @B 4 DA ®BIC

[Question ID = 1991][Question Description = Q85_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7961]
2. 2 [Option ID = 7962]
3. 3 [Option ID = 7963]
4. 4 [Option ID = 7964]

86
) Given below are two statements : One iz labeled as Assertion A and the otheris
labeled as Reason R
S _5_,5-._9-?‘ il ol 3 ) Sk ,‘_J,;‘— oL : Assertion (A)
g _3}'_3 (S _,,__fJ.L'—'.'|..L:.; .:L..‘_g_."_‘«_f_\_g..-..__..._'q.' oL :  Reason (R)

In the light of the above Statements, choose the most appropriate answer from the
options given below :

Both (A) and (R) are correct and (R) is the correct explanation of (A) (1)

Both (A) and (R) are correct but (R) is not the correct explanation of (A) (2)

(A) is correct but (R) is not correct (3)

(A) i= not correct but (R) is correct (4)

Given below are two statements : One is labeled as Assertion A and the other is labeled as

Reaszon R

Assertion (A) : TE Tegel W (AT TR MR A T 7
Reas=on (R) : WTE &% = 92 SIS W2 A5l M FeAH an A |

In the light of the above Statements. choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

[Question ID = 1992][Question Description = Q86_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7965]
2. 2 [Option ID = 7966]
3. 3 [Option ID = 7967]
4. 4[Option ID = 7968]

87) Given below are two statements : One iz labeled as Assertion A and the otheris

labeled as Reason R

e | J,.:-L.':L L.,"o—?é LB 5 & JEEPES . Assertion (A)

.\r@hl '?é__-} o LQJ..C-L..H'J.‘ "_'f{:" U.f.'__'_‘f _k,;u'; G'J.L\_gpt - Reason (R)

In the light of the above Statements. choose the most appropriate answer from the
options given below -

Both (A) and (R) are correct and (R) is the correct explanation of (A) (1)

Both (A) and (R) are correct but (R) is not the correct explanation of (A) (2)

(A) is correct but (R) is not correct (3

(A) is not correct but (R) is correct (4)

Given below are two statements : One is labeled as Assertion A and the other is labeled as

Reason R
Assertion (A) : _E:FTI_ST FEEE FiH TR AR |
Reason (R) : mwmmﬁmﬁ’mﬁqﬁﬁﬂw



In the light of the above Statements. choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

[Question ID = 1993][Question Description = Q87_Sindhi_SHAAN_NOV21]

1. 1 [Option ID = 7969]
2. 2 [Option ID = 7970]
3. 3 [Option ID = 7971]
4. 4 [Option ID = 7972]
88) Given below are two statements :
.P‘a‘:-' LS.\LJ_& L..gb Lg.Ju..H \...S'l—?'f"l \_‘l.w_'L_w.i—' J..;"‘;—|_} : Statement [
o & S omte 4 1 | = . .
(A ES L eSS as gk L‘;.-I_&K.__. Jlles =i . Statement IT

In the light of the above Statements, choose the most appropriate answer from the

options given below -

Both Statement I and Statement II are correct (1)
Both Statement I and Statement Il are incorrect (2)
Statement I is correct but Statement II is incorrect (3)
Statement I is incorrect but Statement Il is correct (4)
Given below are two statements :
Statement I =, FragTeTe Tt (G qmm e e
Statement IT =, e A o seemy faw = Aety |

In the light of the above Statements. choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement Il are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct

[Question ID = 1994][Question Description = Q88_Sindhi_SHAAN_NOV21]

1. 1 [Option ID = 7973]
2. 2 [Option ID = 7974]
3. 3 [Option ID = 7975]
4. 4 [Option ID = 7976]
89) : }
Given below are two statements :
5 & I en - )
g \5;_-_3-_3.‘1.?7_*“}_9.;- (e L‘_Q.J»H..UL_CJ.H___:_-}LA.;»;-&H‘ : Statement I
't.fbl P L......i—‘_,:..' ‘_,cJ""""'" }i_.._.'_’.a J:‘;—l'.\’ : Statement IT

In the light of the above Statements. choose the most appropriate answer from the

options given below -

Both Statement I and Statement II are correct (1)
Both Statement I and Statement IT are incorrect (2)
Statement [ is correct but Statement II is incorrect (3)
Statement I is incorrect but Statement II is correct (4)
Given below are two statements -
Statement I 2, iR el A geFs 9 g a9 9t |
Statement IT - =, Al Al e A gE A7 |

In the light of the above Statements. choose the most appropriate answer from the options

given below -

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement I are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement I is correct

[Question ID = 1995][Question Description = Q89_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7977]
2. 2 [Option ID = 7978]



3. 3 [Option ID = 7979]
4. 4 [Option ID = 7980]

90)

Given below are two statements :

~3

LR dlmb‘:l—a-‘_a-:-[_'la U_m_g..e".&".‘- :  Statement I

. g Jh,;_&_g,;j l_’a-.‘ LJLH 2y |_9| L_-,.’JM ah -._,."lf_P ;_PJT '.:"‘_-‘-_’a.ao f&b - Statement II
In the light of the above Statements. choose the correct answer from the options given below:
Both Statement I and Statement II are true (1)

Both Statement I and Statement II are false (2)

Statement I is true but Statement II is false (3)

Statement I is false but Statement Il is true (4)

Given below are two statements :

Statement I =, AT A H'IFFFHEH ET |
Statement IT - =1, ArefieArel Al Sena Hars @ Jartaar faar 2

In the light of the above Statements, choose the correct answer from the options given below:
(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I is true but Statement IT is false

(4) Statement I is falze but Statement II is true

[Question ID = 1996][Question Description = Q90_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7981]
2. 2 [Option ID = 7982]
3. 3 [Option ID = 7983]
4. 4 [Option ID = 7984]

Topic:- 101Sindhi_B

1) B .
Tg 2 “T‘l_?"'f" J\.‘Lh g5 O 01} |_’n.w \..-‘A—)" _,:‘:

o | v ('-" s et T : . = .
..r‘_gs& =Sy & o 'L“;“' S S (= 5y
) . : 2 3 2l | & sl b - i T . i
= elem e 10 =l ol s = Ol 2 w8 ) S o

g o LS}’L'-‘_E'_,““Ll ?ML}A QJ.JJ |_3.L¢"_\ _3...... ,....ﬁj L.S'\‘L*" - e L‘s-'{'b-‘ J.-C-L..:l_gﬁj.ﬂ;‘-

- -
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[Question ID = 1997][Question Description = Q91_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7985]
2. 2 [Option ID = 7986]
3. 3 [Option ID = 7987]
4. 4 [Option ID = 7988]
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[Question ID = 1998][Question Description = Q92_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7989]
2. 2 [Option ID = 7990]
3. 3 [Option ID = 7991]
4. 4 [Option ID = 7992]
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[Question ID = 1999][Question Description = Q93_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7993]
2. 2 [Option ID = 7994]
3. 3 [Option ID = 7995]
4. 4 [Option ID = 7996]
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[Question ID = 2000][Question Description = Q94_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7997]
2. 2 [Option ID = 7998]
3. 3 [Option ID = 7999]
4. 4 [Option ID = 8000]
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[Question ID = 2001][Question Description = Q95_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 8001]
2. 2 [Option ID = 8002]
3. 3 [Option ID = 8003]
4. 4 [Option ID = 8004]

Topic:- 101Sindhi_C

1)

13 ilga 5100 OB 961 pih ST
Oeeild Eol Ol 068 1A 1ds 909 j;_‘”&d._hl e E C PR P

| = P T AR S | oo ol ey e 1 T e w b s ETRE e



‘J,MJ‘LI '“5\..‘.....: “.-..4_3 _;I.Uﬁ\ (L M'u.-‘-? L:,JIL‘.!-J': .Ln.‘ Lgi R J:- U\. (6]

J:
o oebda \_5-)-—* A 333 S )les o el mlhe p ol e S

- om bz Qs 55l 39 819 gzl p feed g 55 9lS”, (il ilgs S e

&TLﬂsdulﬁguﬁ'&‘pﬁJﬁ PM._B_J-_JLB,:... L"‘"J""‘LS“‘

.“CJL:-lnle.-*—"E_g-r-«J_‘, L_;_g&'ﬁ,_\}]»& y&ﬂlﬂf'bﬁld.ﬂﬂdbdunl \__‘.‘-|'J_>ﬁ_a

23 A PlSs @ 23S33,59 @
P08 @ PEIE TR

ZH 7E ga 96 =i 100 A1 Fae =

[l

foF Fg1 FEml 7= G a1, 99 99 @ W 0SS 3R 0 @ U e 9 o
FOEH F B 381 w22 fed o Ua=fa © g enfea § gz, anfes i dan T B 92 g v an
AR, = W a9 o7 FW Ziow 22 o, & 7= ve= = gieas, (WA s g o o Tz E s

o =, e W A FR | A e fzmw d w7 o o =2 O 39 38 AR A e A A o7 2
1 7 w1uE e,

ot =t = (2)  FwEdr dfe off T4
foertt mifesht == (4) 39 FEEE gl

[Question ID = 2002][Question Description = Q96_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 8005]
2. 2 [Option ID = 8006]
3. 3 [Option ID = 8007]
4. 4 [Option ID = 8008]
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[Question ID = 2003][Question Description = Q97_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 8009]
2. 2 [Option ID = 8010]
3. 3 [Option ID = 8011]
4. 4 [Option ID = 8012]
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[Question ID = 2004][Question Description = Q98_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 8013]
2. 2 [Option ID = 8014]
3. 3 [Option ID = 8015]
4. 4 [Option ID = 8016]
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[Question ID = 2005][Question Description = Q99_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 8017]
2. 2 [Option ID = 8018]
3. 3 [Option ID = 8019]
4. 4 [Option ID = 8020]

5)

t903 lea 5 100 O 96 e B
U585 Soml Ob Oped e s ga  85 5,509 sasl sn 5il5) 1S 539 S

- sl

s cl o ob MASey el osets o il Ss Ly S neSsals e B OS




c‘jk‘:ﬁib L_g':“L&""“"" u.,.ﬂ,.;.‘— L.f‘\ J“"—'l
SHS @ Sty il
s ey @ Sl @

ZH 7Ei FETe 96 @i 100 A A fE

% T2 FEE 7. AR g 9. 95 99 @ A UE 3% w0 @ U Seeee o

FREM S T 381 F33E 136 o9l US| diEst antea § wgen. sniEn S FEn | 7 93 o o A
o= =, ™ T FR @ 5 s feom 3 = 7 oft 9= s o A=A 39 AR T ST w0 g o fem

13 e =

US| e w3
(1) = (2)  Faw
(3) wa (4) Tifera STTiEET

[Question ID = 2006][Question Description = Q100_Sindhi_SHAAN_NOV21]

A W N -

1 [Option ID = 8021]
2 [Option ID = 8022]
3 [Option ID = 8023]
4 [Option ID = 8024]

Topic:- General Paper_Set1_A

1)

Conszider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together iz 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% X2
Sales (SA) 12% (ol
Construction and Maintenance (M) 9% %
Professional (PR) 18% 5:7
Management (MA) 21% Jud
Production and Transport (PT) 19% g
Others (OT) 6% ]




HETARET AMeih] TT Ta=0. = T899 T 794 0 99 9 IFTR & |99 &6 B 906G & FwEEe 1 Jaed
(%) Taemor Qo geg-ufeen wEEe wquE g9 T 2| '@l & % Per weed H Ged 80 @
ATt T T2 U S77RS] % YW T YTT 397 a0

ufdeE (%) o | -t s (g o9 )
Fa1 (uF g) 15% 3:2
e (TE ) 12% 5:3
famtor afft sz (i uw) 9% 5:4
mHTEe (i ) 18% 5:7
Te9F (UH 1) 21% 3:4
FearEA AR i () 19% 558
3= (311 ) 6% 8:5

What is the average number of male workforce in all the sectors put together? (rounded-off to two decimal places)
(1) 6.39 lakhs (2) 4.69 lakhs
(3) 5.96 lakhs (4) 7.48 lakhs

Tft &l i e gy FEee it IfiEd T ¥4 27 (9Herd & g 9 aF)

(1) 6.39 @@ (2) 4.69 @@

(3) 5.96 9 g (4) 7.48 @@

[Question ID = 2007][Question Description = Q01_GP_20NOV_S1_SHAAN]
1 [Option ID = 8025]
2 [Option ID = 8026]
3 [Option ID = 8027]
4 [Option ID = 8028]

A wN =

2) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% 32
Sales (SA) 12% b:3
Construction and Maintenance (M) 9% H:4
Profezsional (PR) 18% 5h:17
Management (MA) 21% 3:4
Production and Transport (PT) 19% Fra
Others (OT) 6% 3:5

FefetEd aifers W fa=m fifae 558 o 57 50 99 3 T = 5 & § 9na 5 e 1 e
(%) Taemor Qo geg-ufeen wEEe wquE g9 T 2| '@l & % Per weed H Ged 80 @
ATt T T2 U S77RS] % YW T YTT 397 a0

ufdeE (%) o | -t s (g o9 )

Fa1 (uF g) 15% 3:2




Hed (TH ©) 12%
fomim ot srpam (€ m) 9% 5:
qrETe (d W) 18%

o
ol

.

(a7}

TaYT (T T) 21% i

Joared i it (fF #) 19%
w1 (=1 ) 6% 3:

o
o | ea| d

The number of female workforce in SE and PR sectors put together is what percent of the number of male workforce in CM
sector?
(1) 330% (2) 318%
(3) 320% (4) 80%
e B A ) e e e ) ot e o e e e i i e e B e e ot BB D e s e e

(1)  330% (2) 318%
(3)  320% (4) 80%

[Question ID = 2008][Question Description = Q02_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8029]
2. 2 [Option ID = 8030]
3. 3 [Option ID = 8031]
4. 4 [Option ID = 8032]

3) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforee of India in different employment sectors during a given
vear. Total workforce in all the sectors put together 1z 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: P
Service (SE) 15% 3:2
Sales (SA) 12% B 3
Construction and Maintenance (M) 9% b:4
Professional (PR) 18% b
Management (MA) 21% 3:4
Production and Transport (PT) 19% 553
Others (OT) 6% *h

frefafes oo @ fo=m Hifsw 5o o o7 5o =d § oo = fafim &t © e & wrdse =1 afem
(%) Taaeo qu1 ge9-afzen FEee oae guE @ 2 8 & %k He wEed S w80 og E|
ATt | 1238 70 ARSI % S9N T U 39 20

YA % FEEE F1 SFan G

wfeer (%) T | gee-wiwen ogeE (79 )
TET (v ) 15% 3:2
ey (ug ) 12% 5:3
frmior o srEam (o) 9% 5:4
THeFe (i #w) 18% 57
TaYT (T T) 21% 3:4
Jearea A ufEe (4 19% 5:3
a1 (= &) 6% 3:6




The number of male workforce in SA and MA sectors put together is approximately what percent of the total number of
workforce in PT sector?

(1) 82% (2) 87%

(3) 89% (4) 85%

TH T HN UA U EAT °§ G 969 hE€e S Fel A of 4 9 H Ed e i el BEdr H o
oA afaeE 27

(1)  82% @) 87%
(3)  89% 4) 85%

[Question ID = 2009][Question Description = Q03_GP_20NOV_S1_SHAAN]
1 [Option ID = 8033]
2 [Option ID = 8034]
3 [Option ID = 8035]
4 [Option ID = 8036]

A wN =

4) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: P
Service (SE) 15% 32
Sales (SA) 12% b:3
Construction and Maintenance (M) 9% H:4
Profezsional (PR) 18% 5h:17
Management (MA) 21% 3:4
Production and Transport (PT) 19% Fra
Others (OT) 6% ]

FefetEd aifers W fa=m fifae 558 o 57 50 99 3 T = 5 & § 9na 5 e 1 e
(%) Taemor Qo geg-ufeen wEEe wquE g9 T 2| '@l & % Per weed H Ged 80 @
ATt T T2 U S77RS] % YW T YTT 397 a0

e (%) oo | e-afeen o g | (( 707 )
a1 (uF ©) 15% 379
Ted (TE ) 12% 5:3
i+ srgeam (o) 9% 5:4
mHTEe (i Hw) 18% 5:7
TauF (UH 1) 21% 3:4
Ieared 3 ufEea (d &) 19% 58
a7 (= ) 6% 8.5

The difference in the number of female workforce in SA and MA sectors put together and the number of female workforce
in PT sector is :

(1) 5.1 lakhs (2) 7.5 lakhs

(3) 5.7 lakhs (4) 13.2 lakhs

UH T 3R TH U &1 § wEAG Gieel wEead St Fe Sl SR 0 f A9 4 S ateen seee S w5 w5




(1) s.1+m@ (2) 7.5

(3) 5.7 (4) 13.2 =mg

[Question ID = 2010][Question Description = Q04_GP_20NOV_S1_SHAAN]
1 [Option ID = 8037]
2 [Option ID = 8038]
3 [Option ID = 8039]
4 [Option ID = 8040]

N wnN -

5) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together iz 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% 3:92
Sales (SA) 12% B 3
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 543
Others (OT) 6% 3:h

ffafed aifers = faam fifse f5om o fog 5o ad | om = fafim &t © e % s =1 sfam
(%) fammr @ wu-afEen FEEw o = T 2| wd e T wEee w50 =g
ATt § T2 U SATHS] % YW 9 YT % 39 alAu)

WA % FHEEE W AT A

i (%) Taaer | gev-aieen sgua (g9 )
= (TE 3) 15% i
Ty (ug ) 12% 5:3
fomto it srgeem (o o) 9% 5:4
arkeEe (f @) 18% 5:7
TaEe (TH ©) 21% 3:4
Ieare R i (4 &) 19% 5:3
a1 (=7 7) 6% 3:5

What is the ratio of the number of female workforce in CM sector compared to the number of male workforce in PR and OT
sectors put together?

(1)17 : 39 (2)16: 37

(3)16 : 35 (4) 16 : 39

ot uH &7 § FEg ufEen FEse H gE 9§ 97 vE oF F g U w1 15 FwEed i ge S H

U FT BT
(1) 17:39 (2y 16: 37
(3) 16: 35 (4y 16: 39

[Question ID = 2011][Question Description = Q05_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8041]
2. 2 [Option ID = 8042]
3. 3 [Option ID = 8043]



4. 4 [Option ID = 8044]

Topic:- General Paper_Set1_B

1) In which level of teaching, the main focus is laid on capturing and systematic presentation of ideas and information?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

HEAA = 8 =1 ¥ g TR fOaR 31 9591 9 95F T AR 6 S e W e WA £ 7
(1)  =id =T (2) FEE T
(3) HFH= (4) wEET fwm ==

[Question ID = 2012][Question Description = Q06_GP_20NOV_S1_SHAAN]
1.1
[Option ID = 8045]
2. 2
[Option ID = 8046]
3.3

[Option ID = 8047]
4. 4

[Option ID = 8048]

2) The following is a list of some basic teaching competencies identified through various researches on teaching. Which
among of them fall in the domain of behavioural competencies?
(A) Self efficacy

(B) Planning

(C) Locus of control

(D) Communicating

(E) Flexibility

Choose the correct answer from the options given below :

(1) (A) and (B)

(2) (B) and (C)

(3) (D) and (E)

(4) (B) and (D)

frfafed F= gl asmm aaae f gt & foe wrsms madt fafim oal & aean 9 =

T B | 3 g S SHaEr s Ht Eart £ 9 O %l O Seae SEen s % A el 8 7

(&) wEE-EEE (FE)

e fau o faskeqt #@ | @@ I w0 wEe i

(1) (&) = ®B)
2 (B) 3R (C)
(3) (D) = (E)
(4)  (B) =R D)

[Question ID = 2013][Question Description = Q07_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8049]
2.2

[Option ID = 8050]
3.3



[Option ID = 8051]
4. 4

[Option ID = 8052]

3) Match List | with List Il

. List | gives the methods of teaching in Institutions of higher learning while List Il provides the techniques of increasing
effectiveness of the method.

List I Listll

Methods of teaching Techniques for increasing effectiveness

(A) Face to face interactive method (I) Using Swayam and Moocs

(B) Open and distance learning method (ll) Programmed instructional packages
(C) Individualized method of teaching (lll) Modular instructional material

(D) Online methods of teaching (IV) Reflective questions coupled with discussion
Choose the correct answer from the option given below :

(1) (A)-(D, (B)-(I1), (C)-(IN), (D)-(IV)

(2) (A)-(1n), (B)-(IV), (C)-(1), (D)-(11)

(3) (A)-(IV), (B)-(lI), (C)-(IN), (D)-(1)

(4) (A)-(I), (B)-(), (C)-(1V), (D)-(1lN)

g1 % = geA-I1 # foera i) g=fi-1 9 3= wiform gonett § faam £ fafami & o€ 2, 3afs g
11 % sifermm fafamt i wamasiic sgm 1 T+ 4 72 3

ﬁ?ﬁ’—l ﬂ?&—ﬂ

Torego =i faten AT qE w1 A
(A) SHH-HEH i SRR 9 ()  T59m 3 g3 F1 7=
(B) I 3R adl wferm fafy (II) wfwT Aaeaas e
(C) fareqmr it G fafa (IIT) Hisgew AT2aen= arst
(D) foregmn =i sATeres fafe (IV) ufem=t =+ wg-wy famers e

Hre fou o famheqi 4 © wE 3T H1 =5E AU

1) (A)-D. (B)-AI), (C)-(III), (D)-IV)
@) (A, B)-AV). (C)-1). (D)-II)
3)  (A)-AV). B)-(IID). (C)-AD. D)-I)
4)  (A)-ID, B)-). (C)-(IV), (D)-(I1I)

[Question ID = 2014][Question Description = Q08_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8053]
2. 2 [Option ID = 8054]
3. 3 [Option ID = 8055]
4. 4 [Option ID = 8056]

4) Given below are two statements

Statement (l) : Achievement and aptitude tests are designed to assess the upper limits of the examinees’ knowledge and
abilities.

Statement (Il) : Objective personality tests and projective personality tests are designed to measure the typical behaviour
and characteristics of examinees.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement (1) and Statement (ll) are correct

(2) Both Statement (I) and Statement (ll) are incorrect

(3) Statement (l) is correct but Statement (ll) is incorrect

(4) Statement (l) is incorrect but Statement (ll) is correct

w21 (D) : IUETed AN STHEEA TS S AT % S ST IR aEa 1 S dE =

HTFE F % e AR T S 2

w27 (1) : e =afhed THE TR WAHE SAThdcT Wi wendEl & e sEEn 3 o

T FTE % UEEE O 49w e e R



I YA AT H, 49 50 0 el § | geE 39T S R =EA i

(1) =9 (D) # (1) 391 =81 2
(2) =9 (D) & (1) 341 =4 2
(3)  FeH () = &, & %o (ID) T4 21

(4) =Y (1) T4 2, SfwT w9 (D) T8 2

[Question ID = 2015][Question Description = Q09_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8057]
2. 2 [Option ID = 8058]
3. 3 [Option ID = 8059]
4. 4 [Option ID = 8060]

5) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : The purpose underlying modern and ICT based support system in teaching is to optimise learning outcomes.
Reasons (R) : An effective instructional support system has to be linked with enhancement of learning conditions.

In the light of the above statements, choose the correct answer from the options given below
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

9 21 ®y fau o 2 ww wfymeH (Assertion A) % w9 H fefige @ 4t R 3 F (Reason R)
FETEY :

AR (A) foram | sy st aE ® & smafa wwEaE st = e T At afonet
1 SEAH T 2

FH (R) : et wureht fe memar wenett = =t afifEufeai 8 gaw F @y w@g e e
=em|

IR YA AR, 4 9 T e | ® g8 39 o 999 i

(1) (A) 3% (R) 3F1 ged 2 31 R), (A) 1 =t = 2

(2) (A3 (R)FF T 7, T (R), (A) Fr T8 = 775 2
(3) (A) w7 7, | (R) 37997 2|

(4)  (A) 375 B, dfET (R) 9 2|

[Question ID = 2016][Question Description = Q10_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8061]
2. 2 [Option ID = 8062]
3. 3 [Option ID = 8063]
4. 4 [Option ID = 8064]

6) Which type of research encourages participant's perspective?
(1) Ethnographic method (2) Historical research
(3) Exegetic research (4) Experimental research

e T o g | wianrei-aie w1 At e s a

(1) == =iy 2) tfaefos @g
(3)  =aEEeTE Y (4) TETEEE oY

[Question ID = 2017][Question Description = Q11_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8065]
2. 2 [Option ID = 8066]
3. 3 [Option ID = 8067]
4. 4 [Option ID = 8068]

7) Hypothesis testing which results into either affirmation or disaffirmation is the explicit concern in which methods of

research?



(A) Descriptive method

(B) Experimental method

(C) Ex Post Facto method

(D) Historical method

(E) Exegetical method

Choose the correct answer from the options given below :
(1) (A) and (B)

(2) (B) and (C)

(3) (€) and (D)

(4) (D) and (E)

e wfieer fomeht afiorfa = @1 sifagfe =1 smfe &9 9 2 2, oy & F=faies 5 9 & fate

=1 TIE TN & 7

(A TagoneEs &t

(B)  wAFTeR fafy

(C) =mEme =g
(D)  fFeo fafa

(E) =gmarc fafa

<t fou o fawedt & © wd 3 w1 =EE il

(1)  (A) =1 (B)
(2)  (B)#h(C)
(3)  (C) 3w (D)
(4) (D)3 (E)

[Question ID = 2018][Question Description = Q12_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8069]
2. 2 [Option ID = 8070]
3. 3 [Option ID = 8071]
4. 4 [Option ID = 8072]

8) Match List | with List Il. List | gives steps of research while List Il provides techniques used.
List |  List Il Steps of research  Techniques used

(A) Problem formulation (I) Tabular and graphical representation of data

(B) Hypothesis making (ll) Drawing a subset from a larger set

(C) Selecting a sampling procedure (lll) Raising pivotal question in a field of enquiry
(D) Data Analysis (V) Setting up relationship among variables of research

Choose the correct answer from the option given below :

(1) (A)-(1n), (B)-(1V), (C)-(I), (D)-(1)

(2) (A)-(D), (B)-(I1), (C)-(111), (D)-(IV)

(3) (A)-(I), (B)-(lN), (C)-(1), (D)-(1V)

(4) (A)-(1n), (B)-(h), (C)-(1), (D)-(IV)

-1 % =19 g=-11 1 e Fifae) g1 % 79 % = 99 2, J6h g=i-10H 3 g6 TG T

i g=-11
Aty & = TR H W0 AT T
(A) =wE g () (ThS! F1 TR0 AR T T
(B) ufishewr fmior (I1) == Tev U2 ¥ 3HEAT H o0
(C) i wiw=n = =99 (II) =/ =+ &= § §F W9 336
(D) e fagemy (IV) =9 #* =0 F == gEy Tind F7

Fr fau o famedt | | wE T W =ma Fifw




(1) (A)-(10L), (D)-(1V ), (o )-110), (L))-11)
@) (A)-O. (B)-AD. (C)-(IID), (D)-AV)
(3)  (A)-D. B)-AID. (C)-@). (D)-IV)
(4) (A)-(IID), (B)-(D), (C)-(ID). (D)-(IV)

[Question ID = 2019][Question Description = Q13_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8073]
2. 2 [Option ID = 8074]
3. 3 [Option ID = 8075]
4. 4 [Option ID = 8076]

9) Given below are two statements

Statement (l) : There is no difference between format and styles of writing and referencing in a thesis and a research
article.

Statement (Il) : Research ethics and its observance is mandatory for all researches.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (Il) are true

(2) Both Statement (l) and Statement (ll) are false

(3) Statement (l) is true but Statement (ll) is false

(4) Statement (l) is false but Statement (ll) is true

F= 2wy fRu T -

w4 (D) U WH-TEE AT AY-UF H ogd N @A % ey AR el % s i A T8
Fo (II) Tt wEHt s W 3 ST w9t e * o i 2

IYIIh HYH & e 1, 9 o e el | 9 wd 3w 99 it

(1) =9\ (@) =1 1D) 31 e 2
(2) = (1) 31t (1) 3T w7@ed 3
(3) =9 (1) |ed 2, @ w99 (1) 39 2

(4) = (I) 99 7, witwa waa (1D 909 2|

[Question ID = 2020][Question Description = Q14_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8077]
2. 2 [Option ID = 8078]
3. 3 [Option ID = 8079]
4. 4 [Option ID = 8080]

10) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : A research hypothesis (H1), has to be tested with the help of a Null hypothesis called (HO).
Reasons (R) : Tenability of research hypothesis (H1) cannot be directly affirmed.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Hr 2w fow T # ;. uw sfieue (Assertion A) F &9 ¥ fafiga & ZE 3@F FAY (Reason R)
FHETH

ATERYT (A) et wg wfeRewn (Hy) =1 Fersofie afimesn (Ho) =h emear o qhEm s

=iz
0 (R) : ity afewer (Hy) ) a%ats 1 safife dd =0 3 78 F - 9 2

TUIE YA & A °, = 2 e e § 8 wey ugs I 6 99 i



1) (A) % (R) 3F1 T8 7 370 (R), (A) F7 @ ==w= 2

(@) (A) 3 R) IA TE F, = (R), (A) F T = T e
(3) (A W 2, A (R) WA T 2

@) (A T T 2, 9 (R) TR R

[Question ID = 2021][Question Description = Q15_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8081]
2. 2 [Option ID = 8082]
3. 3 [Option ID = 8083]
4. 4 [Option ID = 8084]

11) Every year Press Council of India celebrates the National Press-Day on :
(1) January 30 (2) May 30
(3) October 15 (4) November 15

YA UH TR e a6 g U fae eteten 1§ 9 e 5w e e e
(1) 30 St (2) 307g
(3) 15 I (4) 15 Fa=%

[Question ID = 2022][Question Description = Q16_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8085]
2. 2 [Option ID = 8086]
3. 3 [Option ID = 8087]
4. 4 [Option ID = 8088]

12) Which Newspaper logo bears ‘‘Let Truth prevail’’?
(1) The Statesman (2) Times of India
(3) The Tribune (4) The Hindu

| TmmTT 1 odE-faE (S) "Let truth prevail” #7

(1) 3 =2z (2) =EFd ST gen
3) FRf=m 4) zfg

[Question ID = 2023][Question Description = Q17_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8089]
2. 2 [Option ID = 8090]
3. 3 [Option ID = 8091]
4. 4 [Option ID = 8092]

13) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : The more performative broadcast is also more cohesive and popular, but owing to new media its effect is
decreasing.
Reasons (R) : Internet is tending to eclipse broadcast media.
In the light of the above statements, choose the most appropriate answer from the options given below
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct
(4) (A) is not correct but (R) is correct
= = w9 o T ¥ uw wfiEYe (Assertion A) F ®9 ¥ fafiga & TE 3T+ F00 (Reason R)
% B9 H

AR (A) Al TERY (FT5FRe ) STUETHT AfaF TR S TR E B #, Ty A8 Sisa
61 T9% H THH U9 U2 @ 2

FTT (R) : e T (FisHR) Wi ® asErt 2 i AR =6 2
T Y F e |, {9 Ee e e 8 9 gew 3w S = i

(1) (A) 371 (R) M1 T8 2 3710 (R). (A) F1 w2 =m0 2

(2) (A 31 (R) 34T @& 2, &l (R). (A) i 92 sawemn F9 2
(3)  (A)wE 7, = (R) 7A A8 2

(4) (A wE TE R, @l (R) ®A 2



[Question ID = 2024][Question Description = Q18_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8093]
2. 2 [Option ID = 8094]
3. 3 [Option ID = 8095]
4. 4 [Option ID = 8096]

14) For emerging field of mass communication researcher Paul Lazarsfeld proved to be seminal thinker and researcher in
what way?

(A) For exploring the potential of Social Science methods.

(B) For providing training with a high level of entrepreneurial skill.
(C) For raising the standard of American Education System.

(D) For making assumptions that media have limited direct effect.
Choose the most appropriate answer from the options given below :
(1) (A) and (B) only

(2) (B) and (C) only

(3) (C) and (D) only

(4) (A) and (D) only

SHET #F 39T &7 =g AE U Aqahies 0 T O T aniys e 3 et afed g
(A) o faEE e #oaga f ae wE F

(B) ¥ v FEA F9E # =g e 21 % )

(C)  arfmEm i foven qonet =1 &1 924 & fen)

(D) =& gRon sAH = fag & difsa =1 gew e e 2 2

dr fou o faewt ® @ @eE U I 1 = A

(1) = (A) 37 (B)
(2) = (B) 31 (C)
(3)  Fa= (C) =T (D)
(4) @ (A) #T (D)

[Question ID = 2025][Question Description = Q19_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8097]
2. 2 [Option ID = 8098]
3. 3 [Option ID = 8099]
4. 4 [Option ID = 8100]

15) From the list given below, identify the Psychological barriers to communication
(A) Noise

(B) Invisibility

(C) Prejudice

(D) Disinterest

(E) Inattention

Choose the most appropriate answer from the options given below :
(1) (A), (B) and (C) only

(2) (B), (C) and (D) only

(3) (C), (D) and (E) only

(4) (A), (C) and (D) only

=1 <t 1 g G T mEw A mAEeE e wi fatea fif)

(&) T
(B)  wigwEal
(C) yawE



a0 ol e

(E) = =14 841

= fau o faweTl § | WE 39 o =9 FirAw

(1)  =ee (A), (B) 3 (C)
(2) === (B). (C) #1 (D)
(3) %= (C). (D) ¥ (E)
(4)  Fad (A), (C) 31k (D)

[Question ID = 2026][Question Description = Q20_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8101]
2. 2 [Option ID = 8102]
3. 3 [Option ID = 8103]
4. 4 [Option ID = 8104]

16) The average monthly expenditure of a family was Rs. 4,000/- for the first 3 months; Rs. 4,500/- for the next 4 months
and Rs. 5,000/- for the last 5 months of a year. If the total saving during the year was Rs. 5,000, find the average monthly
income of the family
(1) Rs. 3,000/- (2) Rs. 4,000/-
(3) Rs. 5,000/- (4) Rs. 6,000/-

UF T % SR U R F e 2T o 099 3 BaAl A3 4000 F99, SAF 3 4 BEF] H 4500 799

# #Afm 5 #wEA #5000 T A1) I =W AW F A FA w=A 5000 ¥ f | 3@ ufEwR i ostEn

oI 37 AT 7
(1)  3000/- == (2) 4000/- ¥

(3)  5000/- w5 (4) 6000/- w5

[Question ID = 2027][Question Description = Q21_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8105]
2. 2 [Option ID = 8106]
3. 3 [Option ID = 8107]
4. 4 [Option ID = 8108]

17) Find the average of all prime numbers between 70 to 90
(1) 76.5  (2) 98.25
(3) 55.75 (4) 56.75

70 ® 90 & dr9 #i @ AT "EmEl = e gan -

(1) 765 (2) 098.25
(3) 55.75 (4) 56.75

[Question ID = 2028][Question Description = Q22_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8109]
2. 2 [Option ID = 8110]
3. 3 [Option ID = 8111]
4. 4[Option ID = 8112]

18) By selling 33 litres of milk, one gains the selling price of 11 litres. Find the gain in percentage :
(1) 25% (2) 50%
(3) 70% (4) 80%

% = 33 #fiew 39 g W 11 e 39 F fawa gem F avew o Afdq Fa 2 ufowa § @
Ei’cﬂti H
1) 25% 2 50%
(3)  70% 4) 80%
[Question ID = 2029][Question Description = Q23_GP_20NOV_S1_SHAAN]

1. 1 [Option ID = 8113]
2. 2 [Option ID = 8114]



3. 3 [Option ID = 8115]
4. 4 [Option ID = 8116]

19) If the cost price is 95% of the selling price, then what is the profit in percentage?
(1) 4.26% (2) 5.26%
(3)5% (4)7.2%

72 foreft a2g 1 =va gem =E fawa gem = 95% 2 °t =y i afdwEar 7= et

(1) 4.26% (2) 5.26%
(3) 2% 4 7.2%

[Question ID = 2030][Question Description = Q24_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8117]
2. 2 [Option ID = 8118]
3. 3 [Option ID = 8119]
4. 4 [Option ID = 8120]

20) If someone sells an item at a cost of Rs. 1,200/- with a loss of 25%, at what cost she/he should have sold it to get a
profit of 30%?

(1) Rs. 1,600/- (2) Rs. 2,000/-

(3) Rs. 2,080/- (4) Rs. 1,560/-

Iz =iz =3t Tt =eg *1 25% ufawd i =1 @ 38 1200/ - %9% & s=a1 2 & 30% =0 =" F9H *
feru 30 3w =g =i e SHima W sS=AT =fE e

(1) 1600/~ ¥ (2)  2000/- &
(3)  2080/- =w (4) 1560/- =%

[Question ID = 2031][Question Description = Q25_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8121]
2. 2 [Option ID = 8122]
3. 3 [Option ID = 8123]
4. 4 [Option ID = 8124]

21) Which one of the following sources of knowledge (pramana) in classical Indian Philosophy is based on similarity of the
unobserved object with a known object?

(1) Arthapatti (2) Anumana

(3) Upamana (4) Unuplabdhi

T WA SAAE B WA FEtarad § § wE-9 96 3w 95 G A 96 % 9 HEa W
ST 27

(1)  amtE (2) WAFAE
(3) ECEIE) (4) :ﬂgqaﬁ%'x

[Question ID = 2032][Question Description = Q26_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8125]
2. 2 [Option ID = 8126]
3. 3 [Option ID = 8127]
4. 4 [Option ID = 8128]

22) What is the correct sequence of steps in case of inference according to Indian Logic?
(A) Statement of similarity/applicability of the example to case in consideration (upanaya)
(B) Statement of Reason (hetu)

(C) Affirmation of the thesis as proved (nigmana)

(D) Statement of thesis (Pratijia)

(E) Giving an example of the underlying rule (udaharana)

Choose the correct answer from the options given below :

(1) (D), (E), (A), (C), (B)

(2) (D), (C), (B), (A), (E)

(3) (D), (B), (E), (A), (C)

(4) (D), (E), (A), (B), (C)

AT RO F HTER SHA F E § w0 el w9 A

(&) frEmd faw @ sEE i e wE w Ee (30)

TTYN SO, A S L Rl S TR



LE S SHIRTI R AT ol
(C)  sAfwamon =i fagdh = =v 9 gfe (Frmm)
(D) =ATqemon 1 F9F (Wia)

(E) Tifza fam =1 22 2 (Z=mm)

e fau mu ket 9 @ =& 3w 1 = Fifu

(L) (D), (E). (A). (C). (B)

(2) (D), (C). (B). (A). (E)

(3) (D), (B), (E). (A), (C)

(4) (D). (E). (A). (B). (C)
[Question ID = 2033][Question Description = Q27_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8129]
2. 2 [Option ID = 8130]

3. 3 [Option ID = 8131]
4. 4 [Option ID = 8132]

23) YWhich of the following schools of Classical Indian Philosophy reduce Sabda pramana

(verbal authority) to inference?
(A) Nayava

(B) Vaiéesikas

() Buddhists

(D) Mimams®

(E) Carvaka/Lokavata

Choose the correct answer from the options given below :
(1) (B) and (C) only

(2) (B). (C) and (E) only

(3) (B) and (E) only

(4) (A), (D) and (E) only

T qEAA 299 i FA-T TOEE 92 TH S STEE S 5 R

(A)  =mE
(B) ==
(C) g
(D)

(E)  =mars /e

Jr f3u o el © § wE 39w =Ea S

(1)  =as (B) #1 (O)
(2) == (B). (C) #1 (E)
(3) === (B) 3 (E)

(4y  FEE (A (D) 33T (B



[Question ID = 2034][Question Description = Q28_GP_20NOV_S1_SHAAN]
. 1 [Option ID = 8133]
2 [Option ID = 8134]
3 [Option ID = 8135]
4 [Option ID = 8136]

A W N -

24) Given below are two statements

Statement (I) : According to classical Indian Logic the psychological sequence also corresponds to the logical sequence.
Statement (ll) : The logical structure represents not how we ought to infer, but how, as a matter of fact, we do infer.
In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (Il) are true

(2) Both Statement (I) and Statement (ll) are false

(3) Statement (l) is true but Statement (ll) is false

(4) Statement (l) is false but Statement (ll) is true

H=r 31 e femm #
Fo7 (D) : T IRATE THATE % SAR T 0 A e S mE ot 2 2l
FuT (1) - e W= TE Al @At 2 % 26 Uwn ®@ e | =i 9w 9w 78

saTdl & T 59 8 wgEE = B

IYTE YA % AT |, Jre 20 fomedl § © wEl 39 @ =9he it

(1) == (I) = (I0) 2T =27 2
(2) = () 3 1D 3 e F
(3)  ww (1) &3 2, A =wua (1) 57T 2|

(4)  FH (1) 59T &, AT F9A (1) 59 2|

[Question ID = 2035][Question Description = Q29_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8137]
2.2

[Option ID = 8138]
3.3

[Option ID = 8139]
4. 4

[Option ID = 8140]

25) Match List | with List I

List | List Il

Steps of Argument Propositions

(A) Affirmation of the thesis as proven (l) Wherever there is smoke, there is fire as in the kitchen
(B) Statement of reason (ll) There is fire on the hill

(C) Giving an example of underlying rule (lll) Therefore there is fire on the hill

(D) Statement of thesis to be established (IV) Becuase there is smoke

gfi-1 = = g=i-11 =1 faem i)
H11 FA-1T
T & = GEZIEE]
(A)  Frfaron 6 warie & w9 9 gie (Iy =&l 931l &iar & 98 #A07 Bl 8 SoH Wit
|
(B) =TT = FeH (II) T=rEl o = 2|

() fafea Fam =1 semo & (IIT) THfET TETEl T A1 2|



(D) FATUa =] T AT w9 (IV) =FitH T=f g1t 21

= feu Tu faskedi ® @ wE 3w = =EA Hifo

(1) (A)-(I). (B)-(III). (C)-(IV). (D)-(IT)
(2) (A)-(IV). (B)-(III). (C)-(I). (D)-(II)
(3) (A)-(IID), (B)-(IV), (C)-(I). (D)-(IT)
(4)  (A)-ID), (B)-(I). (C)-(III). (D)-(IV)

[Question ID = 2036][Question Description = Q30_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8141]
2. 2 [Option ID = 8142]
3. 3 [Option ID = 8143]
4. 4 [Option ID = 8144]

26) An IT Company has recently produced a new laptop model that uses less power, is smaller in size and weighs less than
previous laptop models.

The technology that has been used to accomplish this, is :

(1) Faster RAM  (2) Blu-Ray Drive

(3) Solid State Hard Drive (4) LCD Technology

UF W75 & HOET 3 B B ¥ U A9 Hise @ o9 w1 i R 2 e e fage o gua w2 aw
1 o=l T2 Aigel H1 30T SFEE B B SR 999 § F9 2

(1) wEx (dF) W (2 -3
(3)  difers &2 =18 TEA (4) u= =i S e

[Question ID = 2037][Question Description = Q31_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8145]
2. 2 [Option ID = 8146]
3. 3 [Option ID = 8147]
4. 4 [Option ID = 8148]

27) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Every general-purpose computer must have an Operating System (OS) installed on it.

Reasons (R) : Man and Computer cannot communicate directly.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

= 2 Fua By U # ;. um wiime (Assertion A) % w9 H fafid B Al FHI 0% #00 (Reason R)
FEIH

aFH (A) TS W AT e § U AT A AEya 'Y H S S 9
F (R) T S FwEE 'Y dN W S | HaE 6w @ |

IF FYA o ATAF H, A= 2 0 fame § A 39 w0 99 i

(1) (A) 37 (R) 21 779 3 &1 (R), (A) Fif =& = 2

2 (A 3 ®) 3 T E, @ R), Q) F wwE =men T 2
(3) (A== 2, I (R) 27977 2

(4) (A s@ 7, AR (R) O 2

[Question ID = 2038][Question Description = Q32_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8149]
2. 2 [Option ID = 8150]
3. 3 [Option ID = 8151]
4. 4 [Option ID = 8152]

28) Identify the correct order of the following storage capacities ranked from largest to smallest capacity
(A) 1500 M Bytes



(B) 5 K Bytes

(C) 1 G Bytes

(D) 2 T Bytes

Choose the correct answer from the option given below :

(1) (D), (A), (C), (B)

(2) (A), (D), (C), (B)

(3) (A), (B), (C), (D)

(4) (D), (C), (A), (B)

o 92 W TEH B GEAT % w4 Fefeias wRE aEas 98 F S aEee i)

(A) 1500 M Bytes
(B) 5 K Bytes
(C) 1 & Bytes

(D) T Bytes

= fou U kel | @ WE I 1 = it

(1) (D), (A). (©).(B)
(2) (A), (D). (C). (B)
(3) (A), (B). (C). (D)
(4) (D), (C). (A). (B)

[Question ID = 2039][Question Description = Q33_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8153]
2. 2 [Option ID = 8154]
3. 3 [Option ID = 8155]
4. 4 [Option ID = 8156]

29) Given below are two statements regarding a smartphone that has both Bluetooth and Wi-Fi technology :
Statement (I) : Wi-Fi has a shorter range than Bluetooth.

Statement (Il) : Wi-Fi can transmit data at a faster rate than Bluetooth.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (ll) are true

(2) Both Statement (1) and Statement (ll) are false

(3) Statement (I) is true but Statement (ll) is false

(4) Statement (l) is false but Statement (ll) is true

I % HEY H fAE sgy 3 A S ghl 8, A & HUF 5y R

T TR e St
TR AD S-S K A H g Fl S T A A5 T A s A A aw e

IVIF FIA F AEAF °, 79 20 70 T § |/ " 39 # 9E Sian

(1) =% (D) = 1) 39 77 2
(2) =y (I) 31T (1) 3T 3@ &)
(3) = (1) = 2, @i woF (1) A9 2|

(4) =3 (I) 8F &, wifba #9A (1D 97 2|

[Question ID = 2040][Question Description = Q34 _GP_20NOV_S1_SHAAN]



1 [Option ID = 8157]
. 2 [Option ID = 8158]
3 [Option ID = 8159]
4 [Option ID = 8160]

A w N =

30) Match List | with List Il :

g1 % = g=-11 1 faem Fifsm)
L F-11
(Frgee i 1ss) (=)
(A) OCR (I) Zfd @1 eeatafiga 2eadsl &1 Thd FH &
fem e e 21
(B) OMR (1) wE-Taemeda wemsa § 3% 5= F  foo
(C) Email (IIT) STHA=TH FEg AR
(D) Instant Messaging (IV) ®HFTTH #:Hjl%—:ih-d-ﬁ
= fau o faskeat | @ wEl Sm W = A
(1) (A)-(I), (B)-(I), (C)-(IV), (D)-(I1II)
(2) (A)-(II), (B)-T). (C)-(III). (D)-(IV)
(3) (A)-(I). (B)-(ID). (C)-(I1I). (D)-(IV)
(4) (A)-M). (B)-I), (C)-(IV). (D)-1I)
Match List T with List IT:
List I List IT
(Computer Terms) (Purpose)
(A) OCR (I) Used to scan typed or handwritten
documents
(B) OMR (II) Used to mark  multiple-cholce
examinations
(C) Email (TIT) Asvnchronous Communication
(D) Instant Messaging (IV) Synchronous Communication

Choose the correct answer from the option given below :

(1) (A)-(ID), (B)-(T). (C)-(IV). (D)-(I1T)

(2) (A)-(IT), (B)-(I), (C)-(I1II), (D)-(IV)

(3) (A)-(D), (B)-(II), (C)-(1II), (D)-(IV)

(4) (A)-(D). (B)-(II), (C)-(AV), (D)-(I1I)
[Question ID = 2041][Question Description = Q35_GP_20NOV_S1_SHAAN]
1. 1

[Option ID = 8161]
2.2

[Option ID = 8162]
3.3

[Option ID = 8163]
4. 4

[Option ID = 8164]

31) Which of the following is an ozone depleting substance?
(1) Sulphur dioxide (2) Methyl chloride
(3) Carbon dioxide (4) Methane

Ffafiga § o ®i9-o1 vH 3TH 1 &0 FE G T 2
(1) Tow SEAFEES (2) faemes F=iEs
(3)  FTE SEAEEES 4

[Question ID = 2042][Question Description = Q36_GP_20NOV_S1_SHAAN]



1 [Option ID = 8165]
2 [Option ID = 8166]
3 [Option ID = 8167]
4 [Option ID = 8168]

A W N -

32) Which of the following sources of energy is not a form of solar power?
(1) Tidal Power (2) Wind Power
(3) Coal (4) Hydro Power

frferfiga o @ FF-m =1 Hia G 91 % w9 TE 27
(1) v (@)
(3)  FFE (4) Sty

[Question ID = 2043][Question Description = Q37_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8169]
2. 2 [Option ID = 8170]
3. 3 [Option ID = 8171]
4. 4 [Option ID = 8172]

33) Which of the following natural hazards is characterized by progressive occurrence and multicausality?
(1) Earthquake (2) Volcanic eruption
(3) Epidemic  (4) Storm

fefafaa & @ -2 oo smer e wedt 2 aff seE stfasmias @9 o TEd 2 7
(1)  9F= (2) wETEHE e
(3} (-][E (4} W

[Question ID = 2044][Question Description = Q38_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8173]
2. 2 [Option ID = 8174]
3. 3 [Option ID = 8175]
4. 4 [Option ID = 8176]

34) The abbreviation NMSHE, in the context of Climate Action Plan of Govt. of India, stands for
(1) National Mission on Solar-Hydro Energy

(2) National Mission on Sustaining Himalayan Ecosystem

(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey of Himalayan Ecosystem

TITA TR 1 TEEE w5 A F "929 § NMSHE fFHoafafas § 8 e ggmer 27

(1) National Mission on Solar-Hydro Energy
(2) National Miszsion on Sustaining Himalayan Ecosystem
(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey and Himalayvan Ecosystem

[Question ID = 2045][Question Description = Q39_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8177]
2. 2 [Option ID = 8178]
3. 3 [Option ID = 8179]
4. 4 [Option ID = 8180]

35) Which of the following pollutants have adverse implications for human health as well as climate change?
(A) Nitrogen dioxide

(B) Particulate matter (PM2.5)

(C) Ozone

(D) Methane

(E) Nitrous oxide

Choose the correct answer from the options given below :
(1) (B), (C) and (D) only

(2) (A), (B) and (C) only

(3) (B) and (D) only

(4) (B) and (C) only

frafafes § 9 5 ugwst =1 wfage 79 5957 & e it Jeag afEd woasa 27

(A) e SEATFEES

Prio I, At o i, e e



D) ey, MolH (DIVL2 5)
(€) s

D) =

(E) g8 1S

e T30 U faedl § H HE I H I I

(1) == (B), (C) ¥ (D)
(2) & (A). (B) 21 (C)
(3)  Faw (B) ¥t (D)
(4) A= (B) #(C)

[Question ID = 2046][Question Description = Q40_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8181]
2. 2 [Option ID = 8182]
3. 3 [Option ID = 8183]
4. 4 [Option ID = 8184]

36) In context of Higher Education, Hon’ble Supreme Court directed which of the following national body/organisation to
frame and prescribe a course in Environment Education?
(1) UGC ; ; (2) NCTE
(3) NCERT ; ; (4) AICTE
I e % H2d °, gEdE I=aY FEeE 3 i e § ovE uegsn An 3 fgiia == F o
Freafefiaa # @ e wdm T favea =i e T o ?

(1) 7 (2) wHEHAS
(3) wEIamd (4) T H s

[Question ID = 2047][Question Description = Q41_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8185]
2. 2 [Option ID = 8186]
3. 3 [Option ID = 8187]
4. 4 [Option ID = 8188]

37) Match List | with List Il. List | names various organizations while List Il gives their location :
Listl ; ; ; ; Listll

(A) NAAC ; ; (1) Delhi

(B) NIEDA ; ; (Il) Bengaluru

(C) NDRI ; ; (Ill) Lucknow

(D) CDRI ; ; (IV) Karnal

g1 = wre g=i-11 %1 faee fifs)

-1 11

(4) wATTH IO
(B) wamEsdin (1) sra=
(C) wF i HAW 3TE (III) =@7=
(D) i =i H e AV) =+

e fau o faedi 4 & |E I 1 wEA il

(1) (A)-(IL), (B)-III), (C)-(I). (D)-(IV)
(2) (A)-(IL), (B)-(I). (C)-(IV). (D)-(IIT)
(3) (A)-IID), (B)-AI), (C)-(D). (D)-(IV)
(4) (A)-(IV). (B)-(IIL), (C)-(IL). (D)-(I)

[Question ID = 2048][Question Description = Q42_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8189]



2. 2 [Option ID = 8190]
3. 3 [Option ID = 8191]
4. 4 [Option ID = 8192]

38) NEP-2020 proposes to establish NETF. What are the stipulated functions of this body?
(A) Articulate new directions for research and innovation in technology.
(B) Provide a platform for free exchange of ideas on use of technology to understand learning.
(C) Engage multilingual experts to help promotion of all Indian Languages.
(D) Advancing international research efforts to address global challenges in healthcare agriculture and climate change using
Al (Artificial Intelligence).
(E) Build intellectual and institutional capacities in Educational technology.
Choose the correct answer from the options given below :
(1) (A), (D), (E) only
(2) (A), (B), (E) only
(3) (B), (D), (E) only
(4) (A), (C), (D) only
72 foremn fifa (wa 2 1)-2020 9 w7 2 F vw i e = w1 oA 2| @ e ol o e 30

(A)  OrifTER d s AR FamEn wg A g dEn )

(B)  =IferTd =i mHEH 7g WrEifTh % YA % 5eg # A % g0 SEE-TEE 5 0% B9 geat FOA)

(C) =i e T 1 seE 33 ° gEa ag saardt e =t =)
(D) TR f=El, FE AR FeErg uiEn # &9 ® AfTaw e w5 e w6 ey SersEe

(E)  Toen wienfft € sifas o7 geumme smarsl 1 Far s

Hr fou e fashedt § | @E 3T 1 =EA i

(1) === (4), D). (E)
(2) %= (A). (B). (E)
(3) === (B). (D). (E)

(4) e (A). (C). (D)

[Question ID = 2049][Question Description = Q43_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8193]
2. 2 [Option ID = 8194]
3. 3 [Option ID = 8195]
4. 4 [Option ID = 8196]

39) Which of the following are e-learning platforms?
(A) SWAYAM

(B) PARAKH

(C) SWAYAMPRABHA

(D) DIKSHA

(E) MOOC

Choose the correct answer from the options given below :
(1) (A), (B), (E) only

(2) (A), (C), (D) only

(3) (B), (C), (D) only

(4) (C), (D), (E) only

faefafga 4 & #-9 3-afm 9= 87
(A) =

By ™=

(C)  w=FwE

(D) 2w

(Fy o=



15 fau U fagedt ® @ HE I A A

(1)  F== (A). (B). (B)
(2) e (A). (C). (D)
(3)  #a= (B), (C). (D)
(4) === (C), (D), (E)

[Question ID = 2050][Question Description = Q44_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8197]
2. 2 [Option ID = 8198]
3. 3 [Option ID = 8199]
4. 4 [Option ID = 8200]

40) Which among the following goals adopted by the UN member States in 2015 is related to SDG-4?
(1) Good health and well being (2) Quality education
(3) Poverty alleviation (4) Industry innovation and infrastructure

I TP F TE 29 gA1 AW 2015 ® #ad faww wem-4 ®@ metad fefatae 4 @ se- w5 s

T Y
(1) 379 9w 3R dgee (2) ToTETE foa
(3)  TEEl ImEA (4) TP FETERE UF FHEEEAT

[Question ID = 2051][Question Description = Q45_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8201]
2. 2 [Option ID = 8202]
3. 3 [Option ID = 8203]
4. 4 [Option ID = 8204]

Topic:- General Paper_Set1_C

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the

greatest challenge we have faced since World War Two. Since 1ts emergence 1n Asia late last

year, the virus has spread to every continent except Antarctica. We have now reached the

tragic milestone of one million deaths, and the human family 1= suffering under an almost

intolerable burden of loss. But the pandemic 1= much more than a health crisis, its also an

unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the

potential to create devastating social, economic and political effects that will leave deep and

longstanding scars. UNDP i1z the technical lead in the UN's socio economic recovery,

alongside the health response lead by WHO, and the Global Humanitarian Response Plan.

and working under the leadership of the UN Resident Coordinators. Every day. people are

losing jobs and income, with no way of knowing when normality will return. Small

1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The

International Labour Organisation estimates that 400 million jobs would be lost. The World

Bank projects a US 3110 billion decline in remitttances this year. which could mean 800

million people will not be able to meet their basic needs.

T W AEGHEE U2 9T 39 915 T T we % 5 2|
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SERAITHE SRR DT LT AndfTisl oflds s1em el \3""3':1‘1\:1 AR SN TG Rl 1alin™ |qifq“_1|.;& B L E AT R L] By by |
g A 2| et a4 % sifam 241 | uften § sue 3299 % W19 9% G S i BigH Ui
TR B e 99 21 37 OF @ ®9 H 10 9@ o SO I a1 99 7 R ol aead w5 ow #
ST SHEAE AiF IIET U5 @ 2| Weg 9% WEMEI WReT WhZ ° HEl HAUE 7, TE UH AYAE
aETEE-ATE w9z H 3| 29 W U oA SHE Wi | SE% SRRl AEmss Ands i
T TUTE USH A § TR o wee qs e T A B | g ag s weEitas st
(feradt) @ 7 wa & ff o T 9 T W T R, 919§ 7% fOve TR e & 5eAn ¥ 99 ®
= wedl geE w1 A 2@ w1 2 9w 9% afvew amdm et fEea F e W ot 3w e
aHFEEE % ged ° e o T 21w G @ s St o e e w ) 3% T8 A e et
w9 GEFg B T W A g gl wgl % wiee i wHg-dz Wl 98 B SAaUSE 9 E@eT w6
e & TR 400 fafemm (40 #is) =i i Stwfei s wdl 2| faga s 3 wgEm @ @t oo
w-Tm (ifeE) 4 110 fafem smfeh ser 6 =i soft) soem sifiom 2 7% 500 fafesm (80 =#0s)
ST AT g S # 9 FRE § A T8 A A

The major crisis faced by the world since World War Il is in which area?
(1) Industrial (2) Technological
(3) Communication (4) Health

fadia favagg & w12 fava =1 o=9 w91 9% 58 &3 1 s 27

(1)
(3)

. 2 N ﬁ\ (2) o Y fﬁ
91 (4) @A

[Question ID = 2052][Question Description = Q46_GP_20NOV_S1_SHAAN]

A w N =

2)

1 [Option ID = 8205]
2 [Option ID = 8206]
3 [Option ID = 8207]
4 [Option ID = 8208]

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic 1= the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1t emergence 1n Asia late last
vear. the virus has zpread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family iz suffering under an almost
intolerable burden of loss. But the pandemic 1= much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP i1z the technical lead in the UNs socio economic recavery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income., with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear. which could mean 800

million people will not be able to meet their basic needs.

T W HEEHEE U2 AU 36 915 5T T uv % 3 2|

FHAFT = HiF5-19 FEME 501K 569 F SYdYs 479 S g9 iR {3 farag & e f mem
ol T B fowet = % sifam 241 9 uften O sush IEva % WY gE G SR ® BigH Tl
TR B B 99 2| 96 7% @2 B0 4 10 A oA SO S T g9 7 IR ot aeear # R
YT U AT I U @ 2| Weg T SEMN WS HEZ ¥ FE AUE 2, TE S Sgagd
aEfAF-AEE gwz H1 2| W W ST ARG THE UAETET 2| 39 A weaE onds Hin




(fartt) 5 9 w7 31 & OF Tl A9cd UEW # T B, WY B AR Gy T Wed F 9eAr | =99
= medt ggai w1 A 2@ w1 2 9w 7% dfvew amdE st fEem F e W ot 3w EiEe
oA % gcd 3 e R T 2| W T S and Ssfan ot e e w 2| 3 T8 e o afiesfe
w9 GEFE B W W A g gidle wgl % wiee s wHg-dz wel 95 B SAaUsiE 49 E@eT w6
w9HE & TR 400 fafem (40 =is) =im =i Al s awdt 71 fava d% 4 wgEE wE E o s e
w-uaur (ifada) § 110 faferm amfef s i =it smofl) soe sifyome 2 % s00 faferm (80 #us)
AT A FEEE S # 9 F § T T A A

The pandemic has left which of the following area unaffected?
(1) Social (2) Economic
(3) Travel and tourism (4) Telecommunication

meEmEHl = Feafefiad § o TR &9 w auE =995 e 27

(1) I IEET (2) =il
(3) =W @R v (4) FTEAR

[Question ID = 2053][Question Description = Q47_GP_20NOV_S1_SHAAN]
1 [Option ID = 8209]
2 [Option ID = 8210]
3 [Option ID = 8211]
4 [Option ID = 8212]

AN wN -

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since itz emergence 1n Asia late last
vear. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic iz much more than a health crisis, itz also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating soclal, economic and political effects that will leave deep and
longstanding scars. UNDP i1z the technical lead in the UNs socio economic Tecovery.,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income., with no way of knowing when normality will return. Small
1slandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear., which could mean 800

million people will not be able to meet their basic needs.

I T HEEHEE U T §H W15 148 T W H I 3

HFT T FHE5-19 T2EE 291 599 w1 AYdYs 3790 SR g win e faveag & aw o
S A 21 fiSet a4 % sAfom A1 § ufer € sueh 33vE % WY 9% 9" SR i SI5H edd
TEET B 99 2| O 0F @E F9 H 10 T S SO FH T 95 7 AR A # R #
ST SEEAE S ISM1 95 W 2| Wed 9% ARWA SRM G%e § Fal AfUE 2, 98 Uk eaqd
gETR-ATE w@Hz S 2| 29 W UA® oA SHE UANGd B SE% [SHEmEl @EmsE Ands S
TSHITa® AT USH a7 T ot GEE a9 e e e A1 2| Y U8 1 A Afds qiqai
(fearft) @ 7 w3 & ft o 7011 99 T = w7, W @ T e e we & meEm ¥ A
e ged gegl w ff 4@ w8 a9 3 dfvaw amdE artEn FEeE % owd w0 ol g w s
THTAF T Agcd § O R T 2| W G S A e o e e 1w 3| 3 6o o uiiesfe
w9 GEFE B W W g g gl R viee 3 wHg-te Wel 9% B S#algiEa 99 E@eT w6
A & R 400 fafemm (40 =) <M =i il = wwdl &) fava s A AW S @ 6 os| A
g TGSl ' W S SRR ot OSSO T e T N, 1 S SR T 1 (LI o L S A G TP a0 eSO Sio ot g i
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Which continent is least affected by COVID-19?
(1) Asia  (2) North America
(3) Australia (4) Antarctica

FH-T1 T2 FF5- 19  T9H F7 UG 524 2 7
(1)  =REE (2) I s
(3)  smefern (4) oTEmRZHT

[Question ID = 2054][Question Description = Q48_GP_20NOV_S1_SHAAN]
1 [Option ID = 8213]
2 [Option ID = 8214]
3 [Option ID = 8215]
4 [Option ID = 8216]

A W N -

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1tz emergence 1n Asla late last
vear. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic 1z much more than a health crisis, itz also an
unprecedented socio economi crisis. Stressing every one of the country it touches, 1t has the
potential to create devastating social. economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's soclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
1slandnations, heavily dependent on tourism, have empty hotels and dezerted beaches. The
International Labour Organisation estimates that 400 million jobs would be lozt. The World
Bank projects a US $110 billion decline in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.
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Which of the following organization has given technical lead in the UN's socio-economic recovery plan?
(1) UNDP  (2) UNICEF
(3) UN-GHRP  (4) UNSC
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1)
(3)

UNDP (2) UNICEF
UN-GHEP (4) UNSC
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Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since itz emergence 1n Asia late last
vear. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic 1z much more than a health crisis, itz also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating soclal, economic and political effects that will leave deep and
longstanding scars. UNDP i1z the technical lead in the UNs socle economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
1slandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline In remitttances this vear. which could mean 800

million people will not be able to meet their basic needs.
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e wake of COVID-19 which of the following organisations/establishments will have least chances of closure?

(1) Tourism industry (2) Health care centres
(3) Industrial establishments (4) Educational institutions
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